SAMSUNG Home Appliance Service

s ERV’C GUIDE

For the latest parts information,
please access to our service web site
(http://www.edbuyer.com/refrigerator)

SIDE-BY-SIDE REFRIGERATOR

i

Model:

RS55 *x*
RS59 *x

=~
: T




A WARNING

IMPORTANT SAFETY NOTICE
The service guide is for service men with adequate backgrounds of
electrical, electronic, and mechanical experience. Any attempt to repair
a major appliance may result in personal injury and property damage.
The manufacturer or dealer cannot be responsible for the interpretation
of this information.

SAMSUNG ELECTRONICS
Technical Service Guide
Copyright ©2004

All rights reserved. This service guide may not be reproduced in whole or in
part in any form without written permission from the SAMSUNG ELECTRONICS
Company.



1. SAFETY WARNINGS 5
2. INSTRUCTION 8
3. INSTALLATION 9
4. NOMENCLATURE 10
5. SPECIFICATIONS 11
6. INTERIOR VIEWS AND DIMENSIONS 14
7. FREEZING CYCLE AND COOL AIR CIRCULATION ROUTE 19
8. MECHANICAL DISASSEMBLY 21
9. OPERATION FUNCTION 29
10. CIRCUIT DESCRIPTION 43
11. DIAGNOSTICS 52

« APPENDIX I (REFERENCE FOR CIRCUIT DIAGNOSTICS) 64
12. ILLUSTRATED PARTS CATALOGUE 72
13. MACHINE ROOM ASSEMBLY SPECIFICATION 97

14. DISASSEMBLY & ASSEMBLY METHOD INTERNAL PART OF ELECTRIC FIELD BOX 98



1. SAFETY WARNINGS

o Pull the power plug out already for the change or repair of electric
parts.
— Be careful the electric shock.

o When exchanging the parts, use the correct parts.
— Check the model name, rating voltage, rating current, running
temperature symbols.

e When troubleshooting, connect firmly the types of harness.
— Make not to be separated when some power is imposed.

® Check the traces of water infiltration at the electric parts.
— If there is a trace of water infiltration, exchange or tape the parts.

e Check the assemble status of parts after troubleshooting.
— It should be done indiscriminately as before the repair.

e Check the use circumstance of refrigerator.
— If the refrigerator is installed at the place that is damp or wet, or
status of installation is unstable, change the installation place.

® Do earth in case of need.
— Particularly, Be sure to earth when there is a risk of an electric
leakage by humidity or wetness.

e Do not use multi plugs in a plug socket at the same time.
Check the power cord and socket is damaged, pressed, squeezed, or

fired.
— If the plug or plug socket is damaged, repair or exchange that
immediately.

e Do not store the foods unstable or bottles in the freezing room.

e Do not repair the refrigerator by user himself.

e Do not store another materials except the foods.

— Drugs or scientific materials : difficult to keep a precise temperature.

— The inflammables(alcohol, benzene, ether, LP gas, butane gas etc.):
have a risk of explosion.




1. SAFETY WARNINGS

Read all instructions before repairing the product and keep to the instructions
in order to prevent danger or property damage.

CAUTION/WARNING SYMBOLS DISPLAYED

Indicates that a
. danger of death
A Warning o, serious injury

exists.

Indicates that a risk
. Oof personal injury
A Caution or material damage

exists.

O

CHSEGRX

SYMBOLS

means “Prohibition”.

means “Do not disassemble”.

means “No contact”.
means "The things to
be followed”.

means “Power cord should be
unplugged from the consent”

means “Earth to prevent Electric
shock”.

&Warning & Caution

Pull the power plug out to Use the rated components On repair, make sure that the

exchange the interior lamp on the replacement.
of the refrigerator. 0 Check the correct model, rated

o It may cause electric shock.

voltage, rated current, operating
temperature and so on.

On repair, remove completely dust  After repair, check the

harness parts, and check parts.
0 Cleaning may prevent the possible fire by

wires such as harness are

bundled tightly.

0 Bundle tightly wires in order not to be
detached by the external force and then not
to be wetted.

Check if there is any trace

or other things of housing parts, assembled state of components. indicating the permeation
oIt must be in the same assembled state of water.
when compared with the state before oIf there is that kind of trace, change
disassembly. the related components or do the

tracking or short.

necessary treatment
such as taping
using the

insulating tape.




1. SAFETY WARNINGS

[ Please ler users know following warnings & cautions in detail.

A Warning & Caution

Do not allow users to store narrow
and lengthy bottles or foods in a
small multi-purpose room.

oIt may hurt you when refrigerator door is
opened and closed resulting in falling stuff
down.

Do not allow users to put bottles or
kinds of glass in the freezer.

o Freezing of the contents may inflict a wound.

«

Prohibition,‘@n

Prohibition
«

e

N —
T

Do not allow users to

disassemble, repair or alter.

oIt may cause fire or abnormal
operation which leads to injury.

Do not allow users to insert the

power plugs for many products

at the same time.

0 May cause abnormal generation of
heat or fire.

Prohibition

Do not
disassemble

Do not allow users to install the
refrigerator in the wet place or
the place which water splashes.
o Deterioration of insulation of electric
parts may cause electric shock or fire.

Do not allow users to store
articles on the product.

0 Opening or closing the door may cause
things to fall down, with may inflict a
wound.

ibiti 00
Prohibition ([ g

Do not allow users to store
pharmaceutical products, scientific
materials, etc., in the refrigerator.

0 The products which temperature control
should not be stored in the refrigerator.

Prohibition

Do not allow users to bend the
power cord with excessive force
or do not have the power cord
pressed by heavy article.

o0 May cause fire.

Make sure of the earth.

oIf earthing is not done, it will cause
breakdown and electric shock.

Earth




2. INSTRUCTION

e SAMSUNG side by side refrigerator has the following characteristics.

Twin Cooling System

« The refrigerator and the freezer have two

evapora
tors. Given this independent system, the freezer
and the refrigerator are cooled individually as
required and are, therefore, more efficient. Food
odor from the refrigerator does not affect food in

the freezer due to separate of air flow circulation.

Multi-Flow System

« Cool air circulates through multiple vents on

every
shelf level. This provides even distribution of
cooling inside cabinets to keep your food fresh
longer.

Door Alarm
« A beeper reminds you if the door is left open.

High humidity for fresher food

« You can keep food, fruit and vegetables fresh for
longer because your refrigerator supplies highly
humidified cold air. This can be up to four or five
times more effective than a normal refrigerator.

Energy-saving fridge/freezer

» Power consumption is kept to a minimum by
distributing cool air separately to the refrigerator
and freezer.

Faster cooling times

* The power freeze function allow you to freeze food
more quickly.

Abundant supply of ice and cold water
 The ice and water dispenser provides ice and cold
water at any time.

Beverage Station (optional)

* You do not have to open the main door to access
frequently used food in the extra
refrigerating compartment. This saves time
and money.

Deodorizer (optional)
» Reusable deodorizer keeps the refrigerator air
fresh and odor free.

CoolSelect Zone™Drawer (optional)

» User can select Quick Cool, Thaw and Select
buttons for quickly chill, thaw and cools items.
Select Soft Freeze, Cool or Chill to control the
temperature of drawer.

i 00 Sl

|

This operation instruction covers various models.

NOTE
manual.

The characteristics of your appliance may differ slightly from those described in this



3. INSTALLATION

( \ 1) To protect refrigerator in movement

Use padded hand truck as shown. If entrance width is
less than 30 ”, remove doors prior to installation and
reattach doors according to procedure below.

{ il 2) Remove all protective tape and pad in refrigerators.
l_ Please adjust the clearance between the doors.

)]

<y, 1 8 1/ 3) Set the temperature control to the temperature and
{ ) wait for an hour.
Al The refrigerator should get slightly chilled and the motor
runs smoothly.

4) Once the refrigerator temperature is sufficiently cool
You can store food in the refrigerator. After starting the
¥ refrigerator, it takes a few hours to reach the appropriate

temperature.
\_ J i

e Disassemble the refrigerator e Assemble the refrigerator

1)

1) With the door closed, disassemble screw(®) by 1) Insert the lower hinge (@) in the bracket lower
using (+) screw driver and then disassemble the

upper hinge cover(®). hinge (@)

2) Disassemble bolts (®) and screws (@) to the 2) Assemble the door (@) in the lower hinge (®).
counter-clockwise by using a tool, and take off the
upper hinge (®) along the arrow (®). Take care
when you disassemble the door to ensure that it does
not fall on you.

3) Insert the upper hinge shaft (®) into the hole (®). After
leveling between the upper hinge hole (@) and the
hole of the refrigerator (®), assemble bolts (@)

3) Disassemble the door from the lower hinge (@) by and screws () to the clockwise by using  tool.
lifting the door (®).
g © 4) Put the front part of the upper hinge cover (@) on the
4) Disassemble the lower hinge (@) from the bracket front part of the upper hinge (@) and assemble,
lower hinge (@) by lifting the lower hinge (@) in the starting with the front part of the upper hinge
direction of the arrow. cover. Assemble the screw to the clock wise by
using a tool.




4, NOMENCLATURE

25X

RIS |59%

S F

C

-

SW

I
P
DOOR PLATE COLOR
NOMAL  SW-SNOWWHITE(EMBO) MS- SILVER MIST (THAI)
SV- SNOW WHITE (VCM)  NS- NOBLE STAINLESS
RS- REAL STAINLESS
TRIMKIT : SG- SILVER GLASS

~N

LB- ILLUMINATE BLUE
MR- MIRROR TR-TROPICAL RED
AL- ALUMINUM NK- NATURE KHAKI
F/K-OPTION ONLY : NC- NATURAL CHERRY DW- DARK WALNUT
BG- BLACK GLASS AT- STRIPE SILVER(AL)
SR- REAL STAINLESS(F/K ONLY)

-

.

P
HANDLE TYPE

: SKI BAR TYPE

: SKI BAR + H/D ASSEMBLED(59)

: A-TOP TYPE HANDLE

: A-TOP TYPE + H/D ASSEMBLED(59)

: NEW SKI + H/D ASSEMBLED(59)

: LONG BAR -TRIM KIT

: LONG BAR-REAL STAINLESS

: LONG BAR - DOOR:SW/SV/MS, FUNCTION:J/K (ONLY)

- NEW SKI BAR TYPE

ZUorTmTm>»XO0O

H:HALF HANDLE

FUNCTION N:

D

:DISPENSER
J: DISPENSER+CONVERTIBLE

BASIC MODEL ~ W:WATER DISPENSER ONLY(R-600a ONLY)\
F:FULL

K FULL + CONVERTIBLE

[VOLUME CAPACITY: 55X,59X(LITER)

(cATEGORY

S : SBS REFRIGERATOR

[BRAND: R-SAMSUNG REFRIGERATOR

— — / \

Label Location




5. SPECIFICATIONS

5-1. Model Specification

Item Specification
Model(RS21) Basic | Basic & H/B | Dispenser | Dispenser & H/B C%ggiﬁscwgm gfgggiec{i%rﬁ
Total 557¢ 532¢ 520¢
Net Capacly Refrigerator 346¢ 346¢ 334
Freezer 211¢ 186¢ 186¢
Net dimension(W XD X H) 908mm O 719mm 0 1760mm
Rated Frequency and Frequency 230 ~ 240V/50Hz
Motor Rated Consumption Power 155W 160W
Electric Heater Rated Consumption Power | 401W 411W 413W 423W 413W 423W
Kind of Refrigerator Indirect Cooling Method Refrigerator
Refrigerant R600a
Refrigerant Input Amount 889
Freezer Performance (4-STAR)
Product Weight 111Kg 111Kg 117Kg 117Kg 120Kg 120Kg
Item Specification
Model(RS23) Basic | Basic & H/B | Dispenser | Dispenser & HB C%ggzm% nggglseec%rlje/‘%
Total 594¢ 565¢ 553¢
Net Capacly Refrigerator 369¢ 369¢ 357¢
Freezer 225¢ 196¢ 196¢
Net dimension(W XD XH) 908mm O 754mm O 1760mm
Rated Frequency and Frequency 230 ~ 240V/50Hz
Motor Rated Consumption Power 155W 160W
Electric Heater Rated Consumption Power | 401W 411W 413W 423W 413W 423W
Kind of Refrigerator Indirect Cooling Method Refrigerator
Refrigerant R600a
Refrigerant Input Amount 889
Freezer Performance (4-STAR)
Product Weight 121Kg 121Kg 127Kg 127Kg 130Kg 130Kg

11



5-2. Electric Parts Specification )
ltems Specification
Models
Freezing Capacity (4 STAR)
Model MK4A5Q-RIU
5 Compressor Starting type R.S.CR
% Qil Charge FREOL « - 15 (ESTER)
= Freezer SPLIT FIN TYPE
L Evaporator _
g Refrigerator SPLIT FIN TYPE
% Condenser Forced and natural convection type
g' Dryer Molecular sieve XH-9
O Capillary tube 0.82x 3000, 5.5 Kg/icm?
Refrigerant R600a

‘% Model Temperature Selection ON(C) OFF(C)
= — N
S & | THERMISTOR 25¢C 240 26.0
S £ | (FSENSOR) -20°C -19.0 -21.0
3 502AT :
o -14°C -13.0 -15.0
= Model | Temperature Selection ON(C) OFF(C)
[
g | 2 1C 2.0 1.0
€ | g | THERMISTOR
E g (R-SENSOR) 3C 4.0 2.0
S| & 502AT e 8.0 6.0

2 First Defrost Cycle (Concurrent defrost of F and R) 4 hr + 10 min
g 3 Defrost Cycle(FRE) 12 ~ 24 hr (vary according to the conditions used)
% § Defrost Cycle(REF) 6 ~ 12 hr (vary according to the conditions used)
g' al Pause time 10 + 2min
O S
% § F Defrost- Model THERMISTOR (502AT)
B | & | Sensor SPEC 5.0k at25¢
(D) —
o 8 | RDefrost- Model THERMISTOR (502AT)
g 3 Sensor SPEC 5.0k at25C
a Rated AC 250V 10A

Thermal-Fuse :
Operating temperature 77 (+0°C/-5C)

12



Electric Components

ltems Specifications

Model Basic Dispenser Home Bar
Defrost-Heater(FRE) Conducting at F Defrosting 215 W
Defrost-Heater(REF) Conducting at R Defrosting 110w
DRAIN Heater(FRE) Conducting at F Defrosting 41w
DRAIN Heater(REF) Conducting at R Defrosting 3BW
DISPENSER Heater | Interlock with F-FAN W W
HOME-BAR Heater Interlock with COMP 10W
WATER PIPE Heater W

Thermal-Fuse for preventing
overheating of Freezer Defrost-Heater

Thermal-Fuse for preventing
overheating of Refrigerator Defrost-Heater

AC 250V 10A 77 (+0°C/-5C)

Condenser for Running 350VAC-54F
(Package type) Starting -
Starting-Relay Modél J531Q35E330M385-2
Operation 330 +20%
Model 4TM265RFBYY-53
Over-load Relay Temp. ON 130 +£5C
Temp. OFF 61 +9C
Rated Voltage 230V/50,60Hz
MOTOR-BLDC(FRE) DC12V/DREP302 ¢ CA
MOTOR-BLDC(REF) DC12V/DREP302 ¢ CA
MOTOR-BLDC (Circuit) DC12V/DRCP302 6 LA
Lamp(FRE) AC240VI30W
Lamp(REF) AC240V/30W x 2
Door Switch AC250V 05Ax2
Door Switch (HOME-BAR) AC250V 0.5A
Power cord AC250V 12A
Earth Screw BSBN (BRASS SCREW)

13



6. INTERIOR VIEWS AND DIMENSIONS

6-1. The Name of Each Part(Basic)

FREEZER REFRIGERATOR

@D LAMP-INCANDESCENT @ COVER-GUARD

© SHELF LAMP-INCANDESCENT
® GUARD ® SHELF

@ TRAY-ICE & CASE ICE TRAY-CHILLED ROOM
® CASE-BASKET @ TRAY-EGG

® COVER-LEG, FRONT @ GUARD
@® CASE-VEGETABLE

10
11

12

13

14




6-2. Part Name (HOME BAR)

ZEN
éﬂl L]

FREEZER REFRIGERATOR

@ LAMP-INCANDESCENT @ COVER-GUARD

© SHELF LAMP-INCANDESCENT
® GUARD ® SHELF

@ TRAY-ICE & CASE ICE @ TRAY-CHILLED ROOM
® CASE-BASKET @ TRAY-EGG

® COVER-LEG, FRONT @ GUARD
@® CASE-VEGETABLE
HOME-BAR

(Y
]
= RN
—

12

13

15




6-3. Part Name (DISPENSER)

N —

— ﬁ/—
4 I\ [ (i g 8
Wi o R
11 il
Ng— 10T
: . |
T ==
I L
= 3 = P

FREEZER REFRIGERATOR

@ ICE-MAKER
@ ICE-CHUTE
@ LAMP-INCANDESCENT

@ SHELF
® GUARD

® CASE-BASKET

@ COVER-LEG, FRONT

COVER-GUARD

@ LAMP-INCANDESCENT
TRAY-CHILLED ROOM
@ SHELF

@ TRAY-EGG

@ GUARD

@ CASE-VEGETABLE

16




6-4. Part Name (DISPENSER / HOME BAR / CoolSelect Zone™)

o 0o AW DN

%
|

—— e [

7

FREEZER

@ ICE-MAKER

® ICE-CHUTE

® LAMP

® SHELF

® GUARD

® CASE-BASKET

@ COVER-LEG, FRONT

REFRIGERATOR

COVER-GUARD
©® SHELF

@ SHELF-WINE

@ LAMP

@ HOME BAR

@® SHELF

@ CoolSelect Zone™
@® TRAY EGG

® CASE-VEGETABLE
@ GUARD

17




6-5. Dimensions of Unit

600

1148

< at )
’ g
5 AN
600 19”8”
INAE
|
(
=
Ul
(
{
gn] 2 %
600 g}
||D|'
MODEL uAn uBu
RS21 719 50
RS23 754 85

18




7. FREEZING CYCLE AND COOL AIR CIRCULATION ROUTE

7-1. Freezing Cycle

Compressor — Sub-condenser — Side Cluster Pipe(FRE) — Side Cluster Pipe(REF) — Hot Pipe
— Dryer — Capillary Tube — Refrigerator Evaporator — Freezer Evaporator— Suction Pipe — Compressor

Refrigerator Evaporator

SIDE CLUSTER PIPE

M

ACCUMULATOR 7\

Freezer Evaporator

«—

Dryer l .
<«— Hot Pipe
SUCTION PIPE -~ l
SUB-CONDENSER N g

Vi

Capillary Tube
Muffler

Compressor

T

A

Hot Pipe

19



7-2. Cooling Air Circulation )

Freezer Refrigerator

IS R

\ —
\

V.

=
B - -
= \
i [ = —f
00 L= zi |

) |

00 |

:' 7

| E—
= 4
—

L

20



8. MECHANICAL DISASSEMBLY

8-1. Freezer Disassembly

Control Panel

1. Insert a flat-blade screwdriver on the slot
as shown and unlock the tabs.

2. Disconnect the wire connector in the back of
control panel

Connector

Door Gasket

The door gasket is set into groove on door liner
1.0pen the door.
2.Grasp the gasket and pull it out from

the door liner.

21

Light SWITCHES

The unit have two light switches on the side

wall of freezer & refrigerator.

1.Use a small flat-blade screw driver to unlock
the hook and pull the switch out until the wire
connector is exposed.

Lights (Dispenser MODEL)

The light of freezer is located at lower side

of Auger motor case.

1.Remove ice bucket.

2.Remove the lamp cover by releasing the screw.
3.Change the bulb(rated component)




Lights (Basic MODEL) Drawers in FREEZER

Refer to Refrigerator Disassembly The drawers are located at bottom side of
Disassemble/assemble method is freezer.
same as the light in refrigerator 1.Pull the drawer out as far as it goes.

2.Lift it up slightly and pull it out from the unit.

Door Guard in FREEZER

Lift the guard up and pull it out from door liner

Ice Bucket

The ice Bucket is located in the upper portion of
the freezer. this assembly stores ice made by the
ice maker and dispenses ice cubes.

1.Lift the ice bucket up

2.Slide it out from the unit.

1.Pull the shelf out as far as it goes.
2.Lift it up and pull it out from the unit.

22



1.Pull the shelf out as far as it goes.
2.Lift it up and pull it out from the unit.

WIRE CONNECTOR

ICE-MAKER KIT

Front of ice tray

Geared motor shaft

Auger Motor & case

1.Remove ice bucket.
2.Remove the screws(4) that secured the case
3.Slide it out from the unit. then, you can
disassemble the auger motor from the
back of the case.

23

Cover Multi Freezer Assembly

1. Remove ice bucket and the Ice maker.

2. Remove the covers(() and sensor covers(®)

3. Remove the screws(3pcs) that secured the
assembly.

4. Disconnect the wire connector(®) and the
connecter for Sensor (it can be possible
to disconnect this connector after removing
the sensor cover)

Cover Evaporator Assembly

1. Remove the assembly of cover multi freezer

2. Pull the assembly out toward front by holding
upper side of the assembly up to see the
connector.

3. Disconnect
the wire
connector
and take the
assembly out.




Evaporator Fan motor Ambient Thermistor

Evaporator Fan Motor is located in the back side The thermistor is located at inside the upper
of the cover evaporator assembly. hinge cover it sends temperature signal to the
1. Remove the screws(4pcs) that secured the micro-processor.

Fan motor assembly on the 4 corner.
2. Remove the motor case by removing another
screw and take out the motor.

,‘

Lo )

Ambient
Thermistor

-

Ice Maker Thermistor

Evaporator is located in the bottom of freezer Ice Maker Thermistor is located bottom of ice
to produce cold air driven across evaporator tray. it sends temperature signal to the
coils. MICro Processor.

1. Remove ice bucket and the Ice maker.

2. Remove the cover multi freezer assembly.

3. Remove the cover evaporator assembly.

4. Disconnect the wire connectors.

5. Desolder the inlet and outlet tubes.

6. Take the steps in opposite to seal the
system as mentioned above.

Thermistor(lce-Maker)

24



8-2. Refrigerator Disassembly )
Beverage Station Drawers in Refrigerator
The beverage station allows access to the The drawers are located at bottom side of
refrigerator with out opening the refrigerator refrigerator.
door. 1. Pull the drawer out as far as it goes.

1. Open the door beverage station. 2. Lift it up slightly and pull it out from the unit.
2. With a small flat-blade screwdriver, take out :
the rubber cap, then put it into the small hole
and push the button inside.
3. Take off the door.

Door Gasket Lights

The door gasket is set into groove on door liner The light of refrigerator are located

1. Open the door. inside of cover multi ref. assembly.

2. Grasp the gasket and pull it out from 1.Remove the lamp cover by releasing the screw.
the door liner. 2.Change the bulb(rated component)

o —

g

(1]

25



Door Guard in REFRIGERATOR CoolSelect zone™(Optional)
Lift the guard up and pull it out from door liner 1. Remove all shelves.

2. Remove two screws that secured.

Z@AARp-nn fREZARARARRT

1. Pull the shelf out as far as it goes.
2. Lift it up and pull it out from the unit.

4. Remove the screw for disassembling the
PBA board for controlling CoolSelect zone™

Water filter

The water filter is .
located in the upper -~
left hand corner of the ‘
refrigerator. this filter
filters water for ice
maker & water
dispenser.

1. Turn the water

filter 1/2 turn
counterclockwise
and pull it down.

2. To install the filter
align the indication
mark(unlock
position) and push it up while turning
1/2 turn clockwise up to the lock position is
aligned. Do not over tighten.

Ineeee

26



5.Disassemble the PBA board. 2. Remove the screw and disconnect the
wire connector, then pull it out.

fencene

Cover Multi REF

1. Remove the screw and cover lamp.
then, remove the sensor cover.

o] =

annten

27



The condenser fan is located in the middle of
machine compartment it cools down the sub-

condenser and compressor.
1) Disconnect the wire connector of Fan.

8-3. Machine compartment
2) Remove the screws (1 EA) on the drain water

Machine Compartment & Electric Box
1) Disconnect the compressor cover by releasing

the screws(6EA).

tray.
3)Take out the condenser fan assembly.

-

- —

=

2) Remove the screws which are securing the Ay
electric box. and press the tap in electric box ] :
coverto take outbyusing a flat-blade screw
The sub-condenser is located in the machine
compartment.
1) Desolder the compressor discharge & the
outlet of sub-condensor.

driver.
2) Take out the sub condenser.

Desoldering Point

PCB-MAIN ASSY

28



9. Operation Function

9-1) Digital Panel 30
9-2) Temperature Control Function 30
9-3) Power Freeze and Vacation 31
9-4) Child Lock Function 31
9-5) Ice & Water Dispenser Function 32
9-6) C-Fan Motor Delay Function of the Machine Compartment 32
9-7) CoolSelect Zone™ Function 32
9-8) Water Filter Indicator Function 33
9-9) Ice-Maker Function 33
9-10) Defrost Function 35
9-11) Forced Operation Function (Pull-down/R-Defrost/R,F-Defrost/Cancellation) 36
9-12) Sound Function 37
9-13) Exhibition Function 37
9-14) Self-Diagnostics Function 37
9-15) Load Operation Check Function 37
9-16) Restoration Function for Power Outage 37
9-17) Set Point Shift Function 39
9-18) Table of Set Point Shift Function 40

29



9. Operation Function

9-1) Digital Panel )

Power Freeze Vacation

Twin Cooling

@ Power Freeze Temp. mﬂ Frid Vacation @
Freezer Temp, Fridge Temp.,
P B
for Basic
Power Freeze Vacation
@ Power Freeze Twin [iclﬁo"ngmd mp. Vacation @
Freezer Temp, odor o8 Fridge Temp,
&@ Filter Indicator % Child Lock gﬁ
Ice Type
Ice Type e W & Child Lock
& &
Ice Water .
for Dispense Model
Power Freeze Vacation
@ Power Freeze K 3 Vacation @
Freezer Temp, Do Fridge Temp,
Ip Filter Indicator Child Lock &@
lce Type &) 2] Child Lock
& &
Ice Water for Cool Select
ZoneTM
9-2) Temperature Control Function )

When the system power is initally engaged, the default set temperature are -20°C for the freezer and 3°C for the set
refrigerator, respectively. The numbers shown on the digital display panel stand for the actual compartments
temperatures. When the compartment temperatures go down, so do the numbers on the display panel, and finally they
reach the set temperatures. Once the system is stabilized, the display temperatures are the set temperature.

1) Freezer Temperature Control.
To select a set temperature, press the Freezer Temp. button. The display shows the set temperature from -14C to
-257C in sequence.

2) Refrigerator Temperature Control.
To select a set temperature, press the Fridge Temp. button. The display shown the set temperature from 1°C to
7°C in sequence.

note) Because of the temperature sensor sensivity, the refrigerator can be under and/or over cooled when
the air flow is blocked by stored foods. (Temperature range of the sensor : -9C ~307C)
In the event of a power failure, if the freezer temperature is maintained lower than 5C, the last
selected set temperature and functions memorized in EEPROM will be restored when the power is on.

30



Operation Function

9-3) Power Freeze and Vacation Functions )

o Select the Power Freeze or Vacation buttons separately.

« These buttons are toggled ON and OFF and the indicators as well.

« Although you select Power Freeze or Vacation, the set temperatures in the freezer and refrigerator are not changed.
« The set temperatures for the compartments can be changed while these functions are in use.

1) Power Freeze function
1-1) When you press the Power Freeze button, the LED indicator lights right away, but there is 10 seconds lag time
to an actual operation. When this button is pressed again, the Power Freeze function stops and the indicator is off
immediately .
1-2) I you select Power Freeze, both the compressor and the freezer fan run for 10 hours continuously.

note) When the Power Freeze is selected, it enables maximum ice maker output. The ice making interval is
reduced from 90 mins to 55 mins (55 mins after the water delivery, if the ice temperature is maintained
lower than -7°C, the ice tray will be twisted). When the ice bucket is full before 10 hours of operation,
Power Freeze is automatically terminated.

1-3) During Power Freeze, the freezer retains the current settings.
1-4) When Power Freeze expires, the indicator goes off and the freezer set temperature will be restored.

2) Vacation function
2-1) When Vacation is selected, Refrigerator fan is turned off, Ice off is selected automaically.
2-2) Though Vacation function is selected, Refrigerator fan does not turned off but turned on for initial Sminutes.
2-3) Vacation function is selected/canceled by Vacation button. it can be canceled by temperature control button of
Refrigerator while Vacation function is selected.
2-4) While Vacation function is working, Vacation lamp is ON, and temperature display of Refrigerator is OFF.

3) Initial Power-On

3-1) The freezer and the refrigerator temperatures are higher than -10"Cand 10°C espectively if, respectively. If
Power Freeze is selected, the R-FAN will be off.when freezer temperature, R-FAN operates.

9-4) Child Lock Function )

+ When the child lock button is pressed for 3 seconds, the child lock indicator is on with an audible tone. when it is
locked, all keys can not be modified except the Ice type button. This function will prevent accidental setting that may
be caused by children or pets. To unlock the setting functions, press this button for 3 seconds again. Also, this button
has another function. When this button is pressed for 3 seconds (lock indication lamp turn on), the heater for sweat
control and all lamps are off except the ice type lamp and child lock indication lamp at a same time.

If sweat is appeared around the cover dispenser or beverage station, press this button for 3 seconds again. then, the
light will turn off and the sweat control function will be performed. and all keys will be unlocked at a same time.

31



Operation Function

9-5) Ice & Water Dispenser Function )

« Among several ice-maker functions, the ice extraction function is performed by mechanical system. Only the relay
control for a cubed-ice dispensing and the SSR control for the ice chute door are performed electronically.

1) Select Cubed/Crushed/lce-off function
1-1) The Ice Type button selects Cubed/Crushed/ice-off options in sequence.
1-2) A default setting is Cubed option.
1-3) If Cubed ice is selected, the Crushed ice bypass solenoid and the geared motor will allow Cubed ice to by pass
the ice Crusher.
1-4) If Ice-off is selected, the ice maker will stop working. This option will be terminated when Cubed and Crushed
options are selected.

Note) When the Ice-off indicator is on and the remained ice is in tray, only Cubed ice will be dispensed from
the ice bucket.

1-5) The ice chute door must be open for 5 seconds after dispensing ceases. After this 5 seconds delay, SSR will be
controlled to shut the ice chute door.

Note) Do not force to close the ice chute door. Try to dispense some more ice again to work it automatically.

2) Water Dispenser function
2-1) To dispense water, depress the water dispenser lever located in the dispenser recess.
2-2) When the lever is depressed, the water solenoid valve located in the machine compartment is open to flow water.
2-3) There is no electronic control function for this option.

9-6) C-Fan Motor Delay Function of the Machine Compartment )
o According to the ambient temperature, the condenser fan located in the machine compartment is operated with
different modes.
Ranges of ambient temp. Operation
C-FAN Above 19C C-FAN is ON as soon as the compressor is on.
Delay function 16C ~ 18T C-FAN is ON with 5 minutes delay from the compressor on.

y Below 157C C-FAN is OFF regardless of the compressor operation.

9-7) CoolSelect Zone™ Function (00000/00000) )

« To select this function, open the refrigerator door and press the button on the control panel of CoolSelect Zone ™
drawer.

« When the CoolSelect Zone™ function is selected, the damper inside fan ductwork is open. So the refrigerator cooling
is performed first, then the damper is closed to control the CoolSelect Zone™ temperature.

32



Operation Function

1) Select function

1-1) Using Select button, Coal, Chill(-1°C), and Soft Freeze(-5'C) options can be selected in sequence. Cool option
maintains a set temperature of the refrigerator.

2) Quick Cool function
2-1) If the Quick Cool is selected, LEDs will flash 60 and Min. The count will be decreased in every minute.
2-2) To cancel this function, press Quick Cool button again or Thaw button or Select button. Otherwise, it will be
terminated 60 minutes later automatically.
2-3) After this function ends, this drawer will come back to Cool option.
2-4) A defrost cycle will be postponed until Quick Cool option is finished.

3) Thaw function
3-1)When the thaw button is pressed, LEDs will flash 4, 6, 10, and 12 in sequence and Hr.
3-2) The count will be decreased in every hour.
3-3) A cancellation of this function is same as Quick Cool function.
3-4) After this function ends, this drawer will be maintained with -1C .
3-5) While the compressor is on, this drawer retains a certain temperature and while the compressor is off, the defrost
heater is activated and R-FAN is on with a closed position of the damper.

9-8) Water Filter Indicator Function )

1) Filter Indicator
1-1)This indicator initally lights in green. The light color will be changed to orange after 5 month operation then to red
at the 6th month. The EEPROM in the control board counts a period of time regardless of a power failure.
1-2)To reset the counter and the light color, press Ice Type button and Child lock button for 3 seconds simultaneously.
1-3)if these two buttons are pressed simultaneously for 5 seconds, this function will cease.
1-4)To restore this function, press these buttons again for 3 seconds.

9-9) Ice-Maker Function )

« The Ice-maker is referred to the device with an automatic ice production, storage in the ice bucket and dispensing
through the ice chute.

1) Ice-maker parts

ICE-WAKER, KIT

EJECT-MOTOR

/SUPT-RUBBER

Tl

EJECT-SENSOR TRAY-CE

LEVELING-SWITCH ICE Full-SWITCH

TEST-SWITCH FIXER-SENSOR

KNOB-TOUCH COVER-SENSOR

GUIDE-ICE(Lever to check ice full)

33



Operation Function

2) Preparation of Ice-maker
2-1) Connect the water line to the water supply valve of refrigerator to supply water. (See how to connect a water
supply line in the owner's manual.)
2-2) Push the bucket back fully so that the guide-ice of ice maker should not touch the back of bucket. (If the back of
bucket touches the guide-ice of ice maker, the ice maker will not make ice any more because of a ice full signal.)
2-3) It takes 6 hours to have a first ice, and throw away 2-3 times of these ice to make sure the supplied water clean.

SUPT-ICE, MAKER

GUIDE-ICE

TRAY-ICE

BUCKET

ICE-MAKER KIT

Push the bucket back fully so that the
lever should not be pushed up.

1) Initial Operation function
1-1) Whenever the power is on, the control board checks the ice tray leveling with the leveling switch within 2 seconds.
1-2) If the leveling switch is not off position, the geared motor will turn to the initial position to make the ice tray leveled.
1-3) When the ice tray is leveled, it will remain  this position for 2 hours (1 cycle time for ice production).
1-4) After 2 hours, the sensor located under the ice tray will measure the tray temperature. If the temperature is
maintained lower than -7 °C for 5 minutes, and the ice full switch is off position, the ice tray twisting process will
begin.

<Reference table>

Leveling SIW Ice full SIW Judgement Remark

ON(‘LOW") ON(‘LOW") Not ready - MICOM Port

ON(LOW) | OFF(HIGH) Not ready PIN #51: Leveling
S P , . PIN #51. Ice full

OFF(‘*HIGH") ON(‘LOW") Not ready(Ice bucket with full of ice ) . Port level
T IR OFF:45V 1

OFF(*HIGH") OFF(*HIGH") Ready ON: 05V |

34




Operation Function

2) Water Supply function
2-1) When the ice tray is leveled again after ejecting ice, the water solenoid value will be controlled to supply water by
time check basis. (See the “Time to supply water’ Table)

3) Ice production
3-1) After 90 minutes pass from the water supply, the control board will check the temperature.
3-2) If the sensor reads the temperature lower than -7°C for more than 5 minutes, than the ice production process is
completed.

4) Test function
« Inorder to operate a test function, press the knob (Test Switch) for 1.5 second.
« This function can be used to check a proper working, to clean the ice tray, and to adjust the water level in the ice tray.
4-1) This function only works when the ice tray is leveled and the ice full signal is cleared.
4-2) When the water line is connected, each process such as a water supply, ejection, and leveling, can be investigated
by this button.

5) Ice off function
5-1) When the Ice off option is selected by Ice Type button, the ice making process will cease.
5-2) When the ice making process ceases, the final state will be the ice tray with the supplied water.
5-3) When Cubed or Crushed option is selected again, the control board will check an accummlated time period. After
making it 90 minutes and when the ice tray temperature is acceptable, ice ejection process will begin.

6) Functions when the freezer door is open
« When the freeze door is open, all ice maker related processes will cease in order to minimize noise and to prevent ice
from dispensing.
6-1) The ice tray stops moving regardless of the position.
6-2) The water supply process remains working as usual.
6-3) If the ice tray is in the middle of ice ejecting process, close the freezer for 30 seconds and check if the tray is
leveled. If it is not leveled, it must be out of order.

9-10) Defrost Function )

1) A defrost is determined based on the accumulated compressor on-time.

2) When the power is engaged for the first time, the defrost cycle for the freezer and the refrigerator will begin after 4
hours of the accumulated compressor on-time.

3) A defrost interval depends on the ambient temperature, the number of door openings, and the door open time.

4) A minimum interval is 6 hours and a maximum is 8 hours for the refrigerator, and 12 hours and 16 hours for the
freezer, respectively.

5) The defrost heater on-time is determined by the defrost sensors as follow :

Refrigerator Freezer
Heater ON Below 10C .
Heater OFF 17C 10T

35



Operation Function

9-11) Forced Operation Function (Pull-down / R-Defrost / R.F-Defrost / Cancellation)

J

« This function enables a pull-down mode, a defrost mode for the refrigerator only, a defrost mode for the freezer and the
refrigerator at the same time, and a cancellation of this function.

o Press Power Freeze and Fridge Temp. buttons for 8 seconds simultameously to get in the ready mode for a forced
operation.

« The display panel will return to normal after 20 seconds in the ready mode.

« Atthe ready mode, press any button(except Ice Type and Child Lock) once to start a pull-down operation, twice for a

defrost cycle for the refrigerator, three times for a defrost cycle for the freezer and the refrigerator, and finally four times
for cancellation of this function.

« Another way to cancel this function is to simply plug out and in the power cord.

Press both button for 8 seconds at the same time.

er Freeze Vacation

CoolSelect Zone @

/el
Freezer Temp,

J Fridge Te
P Fitr Indicator Q
lce Type B w \&/ Child Lock

c] 4]
Ice Water

1) Pull-down Operation

1-1) At the ready mode, press any button once then the buzzer will beep (ON for 1/2 second and OFF for 1/2 second)
until this mode is cancelled.

1-2) At this pull-down mode, the compressor will start immediately (No 5 minute delay) and if the system is in the
defrost cycle, it will be cancelled right away.

Note) If this pull-down mode begins right after the compressor was off, the compressor may not start to run due to an
overload condition.

1-3) At this mode, the compressor and freezer fan will operate continuously for 24 hours and the refrigerator fan will be
on and off according to the set temperature(-20 C)

1-4) After 24 hour operation, the system will be cycled at -25C for the freezer and 1°C for the refrigerator.
1-5) In order to cancel this mode at any time, select the next mode on the ready mode or power off the system.

2) Defrost operation

2-1) At the pull-down mode, press any button again on the ready mode to begin the defrost cycle for the refrigerator.

2-2) The beep sound continues for 3 second at the beginning, then ON for 3/4 seconds and OFF for 1/4 second until
this mode cease.

2-3) Adtter this operation, the system will come back to normal operation.

2-4) At this mode, press any button again on the ready mode to operate the defrost cycles for both compartments.

2-5) The beep sound continues for 3 seconds at that time, then ON for 1/4 second and OFF for 3/4 seconds until the
defrost operation cease.

3) Cancellation

3-1) At the R,F-Defrost mode, press any button again on the ready mode to return to a normal operation.
3-2) Simply unplug the power cord, then plug it again to return to a normal operation.

36



Operation Function

9-12) Sound Function )

1) Sound function
1-1) To make sure a command input, whenever a button is pressed, a “ding-dong” sounds.
1-2) When two or more buttons are pressed simultaneously or if a wrong button is pressed, there is no sound.

2) Door Open Alarm
2-1) When the doors remain open for 2 minutes, there are 10 times beeps.
2-2) If the doors continue to remain open more than 2 minutes, the additional 10 beeps interval will change to 1 minute.
2-3) The beeps will cease immediately when the doors are closed.

9-13) Exhibition Function )

o This function is for a display purpose on the floor of show room or store.

1) Mode ON/OFF
1-1) For the exhibition mode, press Power Freeze and Freezer Temp. buttons simultaneously for 8 seconds until a
“ding-dong” sounds.
1-2) Press the same time buttons again for 8 seconds to cancel this mode put with a “ding-dong” sound.

2) Operation

2-1) Most of the system function except the compressor operation are working properly.
2-2) There is no defrost cycle in this mode.

9-14) Self-Diagnostics Function )

1) Self-Diagnostics in the initial Power ON
1-1)The control board performs a self diagnostics test within 1 second and check out the temperature sensors abilities.
1-2) If a sensor failure occurs, a corresponding LED segment will blink with a beep.
1-3) When a LED segment blinks, only the cancellation function (Press Vacation and Power Cool buttons
simultaneously for 8 seconds) is acceptable.
1-4) After a replacement of bad sensor or a cancellation of this function, this self diagnostics will end.

2) Self-Diagnostics in the normal operation
2-1) To select this function, press Power Freeze and Vacation buttons simultaneously for 8 seconds with an audible
tone.
2-2) In the self diagnostic mode, only corresponding LED segments will be illuminated (see the check list on the next
page)
2-3) After a 30 second illumination of error signal, the system will return to the normal operation.

37



Operation Function

% Self-diagnostics check list

Press both buttons simultaneously for 8 seconds

NO Error
@ | ICE-MAKER SENSOR wer Freeze
© | R-SENSOR Freezer Tem Fridge Tem
@ | R-DEF-SENSOR P ge ‘emp.
@ | R-FAN ERROR Freezer Temp, Q Fridge Temp,
® | I/M function error 4 '@'@ @'Q' ® B
™
g CooISeI%(g Zone OSENSOR lce Type ®,@' ©% ® T Lo
R-DEFROST ERROR
& &
EXIT-SENSOR
@ | F-SENSOR
@ | F-DEF ERROR - -
@ | F-FANERROR If any LEDs blink, the corresponding sensors and
@ | C-FANERROR components must be checked for an error.
@® | F-DEFROST ERROR
% Error items of self-diagnostics
NO| Erroritems LED Display Details Remarks
FEE SEGMENT IIM sensor connector missing; contact | Indicate Error when the temperature sensed
01 | /IM-SENSOR Y (I failure, electric wire cut, short-circuit; /M- | by I/M-sensor is higher than 65°C or lower than
U 1_{ sensor failure; and so on -50°C.
o, STOMENT REF sensor connector missing; contact | Indicate Error when the temperature sensed
02 | R-SENSOR g:g gcg failure, electric wire cut, short- circuit; R- | by R-sensor is higher than 65°C or lower than
YR (/ sensor itself failure; and so on -507C.
REF.  SEGMENT REF evaporator internal defrosting sensor | Indicate Error when the temperature sensed by R
REF DEFROST = 7 connector missing; contact failure, electric » - .
03 SENSOR g:g 8:9 Wil’((ji cut, short-cir%uit; sensor itself failure; ?hefrosgggosensor Is higher than 65°C or lower
PR and so on an - .
REF SEGMENT R-Fan motor operation failure; feedback ) . )
) — 1
04 |R-FAN ERROR g:g g:g signal line contact failed, electric wire cut, ::rf;\fate tError i thtg Fand Gts_lgnatls generated by the
(I short- circuit: and 50 o -motor operation are not input.
. FREEZER SEGMENT
I/M function =) = Ice-gjector and level failed three times
05 ERROR gcg E:g or more
Y T
CoolSelect EF SEGMENT CoolSelect Zone™ sensor connector Indicate Error when the temperature sensed by
missing; contact failed, electric wire cut, is hi ;
06 Zone™ sensor g:g gcg short-c?rcuit; CoolSelect Zone™ sensor fself | CO0ISelect Zone™ sensoris higher than 65°C or
PA O fa||ed; and so on. lower than -50°C .
R-DEFROST e In the refrigerator room, if frost removal
07 YAy mode is finished due to limited time of
ERROR ) U 1_{ 80 minutes. Error is displayed.
Amblent Alr Fgﬁ SEG&NT Air sensor connector missing; contact Indicate Error when the temperature sensed by
08 Y (VI failure, electric wire cut, short-circuit; | the open air sensor is higher than 65°C or lower
SENSOR ) (1 open air sensor itself failure; and so on | than -50°C.
FREEZER SEGMENT FRE sensor connector missing; contact | Indicate Error when the temperature sensed
09| F-SENSOR U failed, electric wire cut, short-circuit; F- | by F-sensor is higher than 65°C or lower than
(I Room sensor itself failure. -50°C.
FREEZER SEGMENT FRE evaporator defrosting sensor Indicate Error when the temperature sensed by
FRE Defrost = 1 connector missing; contact failed, - < hi )
10 SENSOR g:g gcg electric wire cut, ghort-circuit; sensor | F-defrosting sensor is higher than 65°C or
U L itself failure; and so on lower than -50°C.
FREEZERSEGMENT F-Fan motor operation failure; feedback ' ) .
) — 1
11 | F-FAN ERROR g:g g:g signal line contact failure, motor's electric 1:(91IIC:aAtl(il-Er:g):féthZti)nnd;eS;goT?f S:anerated by
L Ul wire missing; and so on. P put.
FREEZER SEGMENT | q H .
12 C-FANERROR = ggfgl] Im(e)t(c)(r)r?tziﬁg(i)lzr?llgrc?tbffseg::aictﬁc Indicate Error if the F and G signals generated by the
(o) S o> 1 | . .
(COMP-FAN) g: 3 L H vire missing; and so on. FAN-motor operation are not input
F-DEFROST FRECZER SEGMENT In the freezer room, if frost removal mode
13 ERROR g:g g-g is finished due to limited time of 70
U minutes. Error is displayed

38



Operation Function

9-15) Load Operation Check Function )

1) In the normal operation, press Power Freeze and Vacation buttons simultaneously for 6 second, then the display panel
will blink for 2 seconds.

2) Press Fridge Temp. button @ to get into this check mode with an audible tone.

3) Each illuminating LED segment stands for the component which has an ouput signal from the control board.

4) This mode will terminate automatically after 30 seconds.

% Table of Load Mode Check List

NO Contents

R-FAN High or AC motor operation

R-FAN Low
R-DEF heater
Start mode
Overload mode
Low-temperature mode Freezer Temp. Fridge Temp.
Exhibition mode Freezer Temp, @ Q Fridge Temp,

COMP B &] 1] [©) )0 (® p) -+@
F-FAN High Ice Type ®,_' ®,_' ® Child Lock

F-FAN Low ™ A @ 8
F-DEF-Heater

C-FAN High
C-FAN Low
Dispenser-Heater
Damper

Normal condition

Press both buttons simultaneously for 6 seconds, all
LED lights will be turned off. At this time press button (@)

wer Freeze Vacatio

B EGISHEISHSHANCHCHRNCUSHOUSHCINS)

% For the R-FAN, only one rpm is applied for the current models, so that D and @ show R-FAN operation only.
% The F-FAN and C-FAN are operated to High/Low rpm automatically according to the operational condition.
% @® and ® only explain the system operation status according to the ambient condition

9-16) Restoration Function for Power Outage )

1) When the freezer temperature is lower than 5°C, all functions on the display panel will be restored.
2) When the freezer temperature is higher than 5°C, all functions will be initialized.
(-20°C for the freezer, 2°C for the refrigerator, and Cubed for the Ice Type)

9-17) Set Point Shift Function )

o Press Freezer Temp. and Vacation buttons simultaneously for 12 seconds to get into this mode.
« In this mode, only the display LEDs for temperature will be ON.

39



Operation Function

Press both buttons simultaneously for 12 seconds

Power Freeze Vacatio

® Freezer Temp. Fridge Temp. @\
ezer Temp, Fridge Temp,
- o - o ®
jjﬁ/ﬁ’ﬁ C c ||
Ice Type Child Lock
S 1 "

Code Reference Value

1) Initially, all products set the code, “0” and press Vacation or Fridge Temp. to increase or decrease # of Reference.

2) To increase or decrease #of Code,press the Power Freeze or Freezer Temp. so that it can be adjusted such as the
temperatures of freezer,refrigerator,ice maker,and CoolSelect Zone™ and the quantity of water supply.

3) After 20 seconds from adjustment, a new setting will be stored in EEPROM and return to the normal display.

9-18) Table of Set Point Shift Function )

1) Shift the freezer temperature sensor

Reference Value 0
Code Temp. shift Code Temp. shift
0 0 8 0.5C
1 -05C 9 1.0C
2 -1.0C 10 15C
3 -15C 11 2.0C
4 -2.0C 12 2.5C
5 -25C 13 3.0C
6 -3.0C 14 35C
7 -35C 15 40C

40



Operation Function

Example) If you are lowering the current temperature of the freezer by -3.0C

Power Freeze Vacation
® - ®
Freezer Temp. Fridge Temp.
Freezer Temp, - - Fridge Temp,
B | b ( B
Ice Type ,-’ C '—‘ C Child Lock
: t t ;
Code Reference value
2) Shift the refrigerator temperature sensor
Reference Value 1
Code Temp. shift Code Temp. shift
0 0 8 0.5C
1 -05C 9 1.0C
2 -1.0C 10 15C
3 -15C 11 2.0C
4 -2.0C 12 25C
5 -25C 13 3.0C
6 -3.0C 14 35T
7 -35C 15 40C

Example) If you are raising the current temperature of the refrigerator by +1.5°C

Power Freeze

®

Freezer Temp,

®
Ice Type
&

Freezer Temp.

(1
(_(c

Fridge Temp.

(
c

t

Code

t

Reference Value

41

Vacation

®

Fridge Temp_
P

Child Lock
&




Operation Function

n The following options is limited to a model with the Ice Maker.

3) Adjust the time to supply water for the ice 5) Shift the CoolSelect Zone™ temperature sensor.
maker
Reference Value 3 Reference Value 20
Code Time to supply water Code tg;(;;lesrglt%crzz's%%eszr

0 5 sec 0 0
1 4 sec 1 -05C
2 3sec 2 -10C
3 6 sec 3 -15C
4 7 sec 4 05C
5 8 sec 5 1.0C
6 9sec 6 15C
7 10 sec 7 2.0C
8 12 sec
9 13 sec
10 15 sec
11 17 sec
12 19 sec
13 21 sec
14 23 sec
15 25 sec

4) Shift the Ice maker temperature sensor

Reference Value 4

Ice maker
temperature sensor

0 -7C
-6C
-8
-9C

-10C

-117T

-127C

-13¢C

Code

~N ol ~A|lW|IN|EF

42



10. Circuit Descriptions

10-1) Source Power Circuit 44
10-2) Oscillator Circuit 44
10-3) Reset Circuit 44
10-4) Door S/W Sensing Circuit 45
10-5) Temperature Sensing Circuit 45
10-6) Key Scan and Display Circuit 46
10-7) CoolSelect Zone™ Panel Circuit 48
10-8) Fan Motor(BLDC) Drive Circuit 49
10-9) EEPROM Circuit 50
10-10) Option Circuit 50
10-11) Load Drive Circuit 50

43



Circuit Descriptions

10-1) Source Power Circuit )

SMPS

[ Vee

Pl K
N R o
WFZZ 4700FZZ
@o D5SCoM 35y 2 F °4T

PBKE180A
D101

N

X

D102 A
COIL 35mH g

+ c101
Q0 1o ZZ 47uF1400v

D103
N414 s e
4
A
N ) 4y
VA PC8 T
i v
>3

. z02
Ay

FUSE1
250V 2A

|
N

P
VAR71
561

BD1

TOP223Y]

222 =

This circuit shows SMPS(Switch Mode Power Supply) which converts AC input voltage (230V, 50Hz) to a high DC voltage
(about 320V). The input AC source power is converted to DC through a wave rectifier (BD1) and the converted DC power
will generate a constant waveform on the switching transformer using a high speed (100KHz) switching motion of
TOP223Y. The D104 will rectify the generated voltage and transform into a steady 12V DC source power used for the
digital display panel and relays. The regulator (KA7805) finally transforms into 5V DC source power for the control board
and sensor's circuits.

Caution) Be careful to handle this circuit due to high voltages (AC115V, DC170V)

10-2) Oscillator Circuit )

_________

Terminal Oscillation Frequency
Xin(#30) 4MHz
Xout(#31) 4MHz

This is oscillator circuit to generate synchronous clocks used to calculate the time for the microprocessor operation.

Note) If the specification of a resonator changes, micro-processor can not work properly.

10-3) Reset Circuit )
Voo ico2 M .
‘_l_1 kTS [ 29 ) RESET Terminal \loltage
C203 5 co02 |
04T T C Vce DC 5V
0
= M RESET DC 5V

The reset circuit is to initialize the values RAM & other sectors of micro-processor. When the power is engaged initially,
the reset voltage becomes “Low;" and it keeps “High” in the normal operation.

44



Circuit Descriptions

10-4) Door S/W Sensing Circuit )
i S0 13w J}i Terminal Operation \olt(state)
HE T =" C?%%T M || Freezer | DOOROPEN | OV (LOW)
T S E———— S 0 T R e
. s L{ C
o N e 1 0
,,,,, s K v Ref | DOOROPEN | OV (LOW)
o (MICONPORT)| DOOR CLOSE | 5V (HIGH)

1) F-Room door open is picked up based on the state (5V/0V) of the MICOM No.43 Port.
When the F-Room door opens, it becomes short between the Door SIW 1 &2.And,5V is supplied in the following
order. CN30 No.@® — F-Door SIW — CN30 No.(H) — R408(1 0OK)—MICOM 43 PORT
When the state of MICOM 43 PORT is 0V, the door is picked up as closed. When itis 5V, the door is considered to be
open.

2) R-Room door open is picked up based on the state (5V/0V) of the MICOM No.44 Port.
When the R-Room door opens, it becomes short between the Door S\W 1 &2.And,5Vis supplied in the following order.
CN30 No.@® — R-Door SIW — CN30 No.(®) — R407(1 0K)—MICOM 44 PORT
When the state of MICOM 44 PORT is 0V, the door is picked up as closed. When itis 5V, the door is considered to be
open.

3) When door open is detected, the MICOM have the relevant Fan Motor stop and the relevant Room Lamp light up.
Depending on the state of Door Open/Close, there are following operations; Lamp On/Off, Fan Motor On/Off and Door
open alarm. So, check relevant items upon A/S.

10-5) Temperature Sensing Circuit )
T
@ R303
@‘7"7 Vee  10K-F R308 . .
FSENSOR +- D@ 'iﬁi YW T e #ofterminalinMICOM | Remark
Vm raos
FOEF SENSOR 1@ e PIN #56 (F-SENSOR)
O M Micom
I D IR s (|: PIN #57 (F-DEF-SENSOR) terlminal
R302 10k 104 voltage mal
R-DEF SENSOR vy @ Vﬁ‘m W 4| 460 ﬁ PIN#59 (R-SENSOR) changge )
PIN #60 (R-DEF-SENSOR) | 2ccordng 0
V._AM_—J_ R310 temp'
Amient 21507 v e PIN #63 (EXTSENSOR)
®
QW

1) Athermistor with a negative temperature coefficient (NTC) is used for a temperature sensor.

2) Resistors, R 306 ~ R310 and capacitors, C 301 ~ C 305 are used for a noise protection purpose.

3) For the F-sensor, the input voltage into the micro processor (MICOM), VF is calculated by (Rth x Vec)/((R303+ Rth),
where Rth is a corresponding resistance to the thermistor's output (See Ref. 6 in Appendix).

4) The F-Def sensor is connected with a bimetal and a temperature sensor is in parallel. In a normal operation of the
system, the bimetal is on and 0V is input into the micro-processor. During a defrost cycle, the bimetal will be off from
54°F, and a divided voltage with R304 enter to the micro-processor to keep sensing the set temperature.

45



Circuit Descriptions

10-6) Key Scan and Display Circuit

J

CNs0
SVM250-14
WHT

@

®

@@

(@)]0)

QIS[6)

OH®

®M®

=y
/ ” csm'

SINK DRIVER 4 == ! ! ! - @

— ®H®

@ > ®H®

P72 G I OH®

P73 G OH®

P74 G g : oH®
P75 5 I q UDN2961A @ ] [

TCAOZBB = CN51] svmzs0-14

HEEE e
|
= DECORDERIC 'SOURCE DRIVER

@@@T@@OF

swlo O sw4
—MW————
—MWAV—— sw30 O swbé
—MA—

—>— Red

—b— Yelow Green

tar P b P e 1P |el—«>o—«PFW Jae.

22 54 2b 4204 20— 20T+ oroH Ok

3aPH43b P3P} 34>} B> & .
{ ice Type:

darPHp4b—PHdcrbg 4drPHy Aerbo—«‘”"w Seled ey

I 1 of 2 = R ] VW QO Vacation

JSan ) nan Gl wan K wannd) JRain o e
of org3g b 4 o dgp 01y Jtook o L Cuoetzo

10K*5

10eeoeee

PANEL PCB

1) Key Scan and display operation.

p72
P73
P74
P75

o HoH{ s w

33

R503
R504
R505
R506

F47K4

The model uses a decorder IC which 4 inputs and 9 outputs.

If the IC 9 decorder (TC4028BP) receivesd signals from
MICOM pins (3-6), an output signal per 2 miliseconds
comes out from Q3, Q41, Q8, Q6, Q9, Q7, Q0, Q2, and Q4
pin in sequence. This signal enters to a driver IC input
terminal of the CoolSelect Zone™ PCB and IC5 (TD
62783AP), then approximate 11V peaks will generate from
an output terminal as shown on the next page.

46



Circuit Descriptions

Repeat 18 msec period

The step signals of DC 11~ 12V will be generated periodically. If a sink signal outputs from IC4, DC 11-12V will be

applied to the LED input terminal and sink the LED output terminal to 0V. Therefore, LED will be ON for 2 miliseconds.

The 6 step signals, Q6~ Q4 are applied to scan the 6 keys (buttons). When SW6 is pressed, the step signal from Q6
will be reduced to 5V and entered to the MICOM, then MICOM will match a corresponding function for SW6 key.

2) Key Scan

47



Circuit Descriptions

10-7) CoolSelect Zone™ Panel Circuit

J

1) CoolSelect Zone™display panel and temperature sensor

_BLK|
_BRN|
_RED|
_ORg|

YEL
E
Bl
_PRP|
_GRY|
_WHT]
wiBLU |

WABLK|

WIRED|
WBLY|

CON2

CON1
R 470+7

BLK

CON1

BRN

RED

ORG

YEL

PNK

BLU

PRP

GRY

fa[ > b

o>t 10>

1e[PH 11 [P Yot

WHT

2a>p2b

2¢

2d

2ei—{>&—< 2{£{>H>M 29

0P OO

W/BLU

LEDI _py QUED2 1y JIED3 1y JLEDY

y R Wi

AW—-0 SELECT
e — NG w2

ANN—0 O Thaw

LEDS 1y JHED oy D7

R3 SW;

AA—3 6~ Quick Cool

PEPROIPPOPROOEE®E O—

CoolSelect Zone™

—— 0P PR O

1-1) CoolSelect Zone™ is referred to as a storage drawer to implement features of Quick cool, Thaw, and Select (Soft

Freeze, Chill, and Cool).

1-2) CoolSelect Zone™ has an additional display panel. Panel LED are off while the doors are closed. When a door is
open, micro-processor senses its signal and LEDs will be on.

1-3) The basic operational principle is the same as the key scan process.

1-4) The additional sensor can measure the temperature of CoolSelect Zone™. This sensor enables to control the

features of CoolSelect Zone™.

2) Damper drive circuit

Ic7
TA7774P

CN73
SMW250-06 WHT

DAMPER HEATER

|||-|

® 00 O
® 60 0]

—© e

(@ ®

48



Circuit Descriptions

2-1) CoolSelect Zone™ Drawer is controlled by a damper to supply or block cold air. For Quick Cool, the damper will be
close. So cold air is supplied only to CoolSelect Zone™ Drawer. For Thaw, the evaporator heater of refrigerator is
ON and the damper is controlled by the refrigerator temperature.

2-2) The stepping motor controlled by a Driver IC TA7774P(IC7) operates the damper. The stepping motor uses 4
combined signals to open and close the damper.

Note) To prevent the malfunction from a high humidity, a DC 12V, 1 watt heater is mounted and activated continuously.

10-8) Fan Motor (BLDC) Drive Circuit )
SVMS520-07 WHT
CN72
e i it ettt nli 1
| BLDC FAN MOTOR e ‘ oo ,a F-FAN MOTOR Input Voliage S [
R709
| Low Motor Voltage @ x3 184 i |
| B @ 1 5) 3;8: @ R707Mn 2 B”‘;\S}“‘B L ) P2 |
- g p— OW,
| BLOCFAN @ B @ R702 ;%E: -R706 R705 P |
I C 47uF % 20K-F 10K-F%l_ 1 1K-F [+12v> |
’ i { w ) Pas
| BLDC R-FAN @ @ — v |
| 1N4007-3 Pl 7 2 |
il 2 47 e
I BLDC C-FAN H® g — A (39 P35 |
! b o om ] 9% |
| d = 10KFY I 10KF |
| L 6B @ = 40) P37 |
| L@H® 4D Pao |
I ®HO @) P4t |
I ______ T _ T _ _ _ _ _ _ _ _ _ __ ______________l_ |

1) Motor drive circuit

1-1) This refrigerator adopts a BLDC motor froeduce energy consumption, Motors of the freezer, refrigerator and the
machine compartment are composed of the BLDC. For RS2533, R-fan is operated by AC 115V Motor.

1-2) Voltages between high-speed and low-speed

Voltage of motor Remark
Measireh (FFAY) | Measre C RFAY)| Measre dCFAN) In the normal operation, MICOM No. 40, 41 and 42 applies a constant frequency; and
High 111V 10V 10V MICOM defects the signal to check the failure of motor.
Low 0V 10V 83V (frequency(Hz) x 12 = motor rpm)

Note) Under the conditions, the fans will be operated in 2 options, such as High and Low mode. Generally, it is
operated in the High mode during a day time and in the Low mode at night.

49




Circuit Descriptions

1-3) When the motor rpm is in 600~700, it will stop automatically and it tries to resume after 10 seconds. If the motor is
not working properly after 5 time trials, it will rest for 10 minutes, then try to resume again. This process will be
done continuously.

Note) If there is an abnormal situation for the motor, the self-diagnostics will show the corresponding LED segment.

10-9) EEPROM Circuit )
EEPROM is semiconductor memory not to be Reos 1K
erased. It can be used in the area of unstable c206 uos
electric power. ooy e Veo
P30 @ R203
EEPROM
10-10) Option Circuit )
There are a variety of models that have a
different function. A different model can set up to
use option circuit as shown. P71 (2
D602 OPTION
P70 VA X |CoolSelect Zone™
D61 O |No CoolSelect Zone™
P30 (33
1
10-11) Load Drive Circuit )

1) The control of load in the system is accomplished by the main PCB.
2) Most of relays or SSRs can control the compressor, refrigerator/freezer defrost heater, and several option functions.

3) For the compressor, #18 pin of micro processor signals High (5V). This signal enters #5 pin of IC3 and #14 of output
terminal which have base and collector functions of IC3 turns on and connects the GND. Relay 73 will be grounded
through #14 of IC. Magnetic field will generate so that the second side of RY73 is activated and 115V is supplied to
the compressor. On the other hands, if #18 of micro processor turns Low(0V), #5 of IC3, the current of RY 73 relay,
and magnetic field will shut down in sequence. A contact point in secondary side of Relay 73 is off. Finally compressor
will stop.

50



Circuit Descriptions

4) The principles of other loads is the same as 3) item described.

Note) SSR(Solid State Relay) is a kind of Relay.

f 1 P | 1 IC3
*COMP. equivalence circuit of drive section ¢
+12V —{co B MICOM
AC-115V COMP — E
POWER o
SET
By
WHT { GRN{BLK
MOISE
FILTER
L
RED | GRN | BLK
BLK GRY
RED 50 Br—
WATER S/ | 7o
Y TWI96-13AV WHT
-2 —{FoEFRoST HeATER) el oS~ |
RED THERMAL-FUSE — L,—iii
g
— w2
THERIALAUSE] e (R-DEF-HET) |—‘—‘1l“-‘3\"0—J
(HEATER coM) e —
il Loomp_crean —— |1 T ey = oo
R0 ok N |
RED DISPENSER HEATER (508 HEATERS) -0 —O—4
s [
() F-RO0U LAWP @ — e —o
RED py R-ROOM LAWP (F-LaP) ‘
RED ) HO wome ﬁ '
RED COVER 1CE SOLENDID 7| (oo ez swpo) | IS0
RED TCE_SOLENOID-VALVE ) ICEBAIER S e
L P - w| 00—
RED Coa ] i wik | P e L o =
— e
/\/

51



11. Diagnostics

11-1) If power is not ON )
; ih To check the main PCB, please apply
At the power of main PCB, the 115V power and a high-voltage over DC e e
170V occur. Please take care of yourself on repair and measurement. s e L

C Stat )

YES
Is 230V AC fuse down? +
Check the exchange of fuse and
NO disconnection cause.
s power 230V
hoth terminals of CN10? +
Check the assembly and connection of
' YES electric wires.
Is fuse on main PCB down? +
Exchange fuse
. NO 250V/ 2A?
Is DC 320V impressed to both
terminals of BD1? *
Check the PCB pattern and replace BD1.
Top SIW 233Y NO
Is the voltage impressed DC 5.8V
hetween C and +
Replace PCB assembly.
Is 12V impressed to both NO
terminals of C102? +
eplace .
1) Replace D104 (D5S6M)
NO 2) Replace PCB assembly.
s Is the load such as relay normal?
v Y
- Check the connections of main PCB.
- Check the connections between upper NO Replace REG(KA7805)
hinge and CABI-door. Is normal the load, such as
- Check the connections between door and relay? +
panel PCB. 1) Check he assemblyof electic ires and roublehoot
_ NO 2) Replace the panel PCB.
S there any PCB soldering, short or broken +
1) Replace the corresponding relay.
2) Check lead wire for contact.

Normal

52



Diagnostics

11-2) If the compressor and cooling fan motor don’t work normally

C Start )

NO
Did 5 min pass after COMP. OFF?

Y

< 'ES Check after a lapse of 5 min.
Does compressor work YES
with forced operation?
Did buzzer sound on forced operation? NO
(Check certainly after forced start) Apply Ref 4 Is freezer sensor normal?
NO . i
Is MICOM No.18 High?(5V) YES Open an reqair e
\ connection.
EXChange MICOM and PCB. YES s the temp_ sense NO
of main PCB Normal?
NO . /
s the vottage of IC03 pin No. 14 between 0-1V2 Troubleshoot the
\ YES sensor and Exchange
Exchange and repair ICO3. YES Open and troubleshoot the PCB.
(ULN2803) connection.
NO
ApplyRef.2 |-+ Is COMP relay normal’?
A
Exchange or troubleshoot
YES
COMP relay.
NO
S the contact of connector CN70 normal?
Y
YES Insert connector completely?
NO
Is COMP assembly normal?
YES Exchange and repair COMP.
assembly.
Normal

53



11-3) If defrost function

J

* See Ref. 3: ‘Check load" in the manual.

* Make decision on the basis of ref. 4 and
6 in the manual.

x See test function in the manual.

NO

v

* Recheck the corresponding sensor for
an error if it fails in retum.

Reference

If temp. of F, R defrosting sensor by the
working of heater are over 10T, 17°C

Y

* See ‘Load Drive Circuit section’ and
Ref. 2: How to check failure of relay.

¢ Start )

S power applied to the

Is F, R defrosting sensor by NO
self-iagnosis normal? \
YES Exchange and troubleshoot the
corresponding sensor.
NO
Is F, R Room defrosting heater normal?
\
YES Check temp. fuse,
breaking of heater wire, contact of
: NO wire and so on.
s temp. of the defrosting
sensor below 23°F? ¢
YES Run forceq operation fora
specified period.
: |
\
Perform forced defrosting for F and
Rroom at atime.
NO

respective defrosting heaters?

YES

Does the system
retum o coolmga operaton after heating
ra spectied period of tmg?

YES

| Normal |

NO

Recheck the connection

terminal in Main PCB

Check temp. fuse, breaking of heater wire,
contact of wire, and so on.

\

Exchange or troubleshoot the failure relay or
exchange PCB assY.

54

v

Repair the connection terminal.




Diagnostics

11-4) If there is a trouble with self-diagnosis

- Error of sensor can be seen on the front display of refrigerator. If power is impressed to refrigerator first, an failure of sensor is found. The refrigerator

will stop working and display(blink) the region of trouble-occurred sensor repetitively.

- Even if sensor has failure during the operation, the refrigerator will not stop working but can run the normal cooling operation because of being operated

in the Emergency Operation mode. Therefore you' re requested to use how to check self-diagnosis in the manual.

1) If the ambient sensor has trouble
C Start )

Was the Mai
—PCB connector(CN31) inserted

NO

correctly?
YES

NO

» See Ref. 4 (descriptions of . Is the ambient temperature

Y

Abad contact or connector missing?

sensor normal?

circuit operation, and how
to check temperature
sensor in the manual.)

Is the input of voltage to NO

Y

Exchange the temperature sensor.

MICOM pin No. 63 normal?

YES

No trouble with PCB and temperature sensor.
Recheck the contact failure of connector.

2) If the temperature sensor of F and R room has trouble

¢ Start )

Is the unit®

\

Check the iced solder and
short of main-PCB.

* See Refd (descriptions of ..........
circuit operation, and how
to check temperature
sensor in the manual.)

Fridge’s temperature

NO

Y

Exchange the temperature sensor.

connector(CN30) inserted
correctly?

NO

Y

Troubleshoot a bad contact or missing of
connector.

Is the input voltage to NO

x For sensor resistance per -+

Y

Moafy the wrong configuration of connector
wire -In case of being not inserted or
incorrectl inserted - to be coincided with the
circuit diagram.

MICOM pin No. 59 normal?

temperature, make use of
the resistance values from

Ref. 4 and 5. YES

No trouble with PCB and temperature sensor.
Recheck the connector for an error of contact.

55

\

Check if the iced solder of main PCB is
short.




Diagnostics

11-5) If alarm sound

1) If “Ding-Dong” sounds continuously

* Freezer door MICOM No. 43,
Fridge door MICOM No. 44
—Regular voltage are 5V to Open :

0Vto Close.

* Separate the door SW and

check if the measured value of

unitis changed from 0tooo @
according to SW ON/OFF.

2) If “Beep” sounds continuously

(

Start

Isn't the door opened minutely?

No

Isn't water penetrated
into the door S/IW?

Is the input voltage of
main No. 43 and 44 changed at door-open
door-close?

YES

Is the state of inserted connector
(CN30)being normal?

YES

Is the door S/W self-unit normal?

YES

Yes

NO

i

Remove causes after
comprehending the conditions of

interference by doo

r gasket, food etc.

NO

Y

Exchange the door SIW.

NO

Y

Troubleshoot the br
bad doo

eaking of wire and
r SIW.

NO

/

Connector not inserted. Troubleshoot

poor co

ntact.

Main PCB and door S/W are normal.

Start

)

Didn't you
select forced operation and forced
defrosting?

YES

Do buzzer

still sound after power-on
again?

YES

Y

Exchange the door S/W.

Selected

NO

\

/

Release the forced operation and
forced defrosting functions, or tum ON
again after power OFF.

Check if there is any short parts due to
foreign matters and the test
jumper partin the main-PCB.

56

\

/

Main-PCB

is normal




Diagnostics

3) Without sound of buzzer operation

* Refer the description of
Test function in the manual
for the Forced operation.

C Start )

Does it sound

YES

‘Ding-Dong’ if you press a button
on front panel?

YES

Does it make a sound of door-open’ dlam

\

Main PCB is normal; buzzer normal.

hen you ave opening the door of fezer or idge
more than 2 min?

\

Check the panel PCB with the
reference of ‘how to check panel

YES display’.
S the bent or go-out of the buzzer
in the main PCB? Y
Buzzer is broken - replace it.
Are signals coming NO
out of MICOM No. 2L in a 1-sec cycle
erthe Forced operation? Y
YES Replace the main PCB.
(failure of MICOM)
s signal of Q80T NO
Base ouputted with 1 sec. intervals
in the condition above? \

Check the state of pattern connection
between MICOM No.21 and Q80L1.

The main PCB and buzzer are normal

57

Did lead of a YES (Check Open/Short)
component fall on the vibration plate
of buzzer? Y
NO Poor buzzer is broken down or
replace the buzzer.




Diagnostics

11-6) If the panel PCB is not working normally:

1) Where lighting of the panel PCB is disabled, or only some lamps are disabled.

* See Ref. 1: View of the
connection cabinet-door
for the wire assembly’ in
the manual.

¢ Start )

Is the connector

NO

of upper hinge cover inserted

normally?
YES Reinsert the connector. Troubleshoot
a poor contact.
Is the main PCB NO
connector(CN50) inserted
normally? Y
Reinsert the connector in the main
PCB.
Is the connector of NO
door panel PCB connector inserted
normally? Y
YES Reinsert the connector. Troubleshoot
apoor contact.

Is lighting operate YES

normally when the exchange of panel

Y

1. Check the door wire of freezer - the disconnection of wire, short between wires.
2. Check the CABI wire of freezer - the disconnection of wire, short between wires.
3. Check the panel lighting circuit section within the main PCB for short open.

Panel PCB itself has trouble.

2) Where the Panel PCB key isn't selected:
- The basic check way : If you is troubleshooting in the basic check method, then

* Refer to the description of
circuit operation in the
manual 10-6) Key scan
and display Circuit
selection’s, and measure
the wave pattern.(page 40)

YES

Is the locking lamp lit on?

NO

Y

Recheck after the release of locking
function.

Arenta kt(afv or more buttons
ressed continuously?

YES Operated by

separation
Isn'tthe PCB system

A

Reassemble the PCB ass'y/Enforce
the cancellation of pressed keys.

stil operated b%/ seperating of the
mechanism?

YES

Y

Reassemble the PCB ass'y/Enforce
the cancellation of pressed keys.

operated normally in the exchange
of panel-PCB?

NO
Is a periodic

NO

Y

Panel PCB has trouble for itself.

wave form outputted from the main
CBIC9?2

+ YES

1. Check the door wire of freezer - check the breaking of wire, short between wires.
2. Check the CABI wire of freezer - check the breaking of wire, short between wires.
3. Check for Short/Open of the Panel Lighting Circuit Section in the main PCB.

58

Y

1. Replace the main PCB.
2. Check the short wires of CoolSelect
Zone™panel.




11-7) If fan doesn't work: )
Reference
+ The refrigerator has been applied with the BLDC fan motor. For RS2533, R room Fan is AC motor used. The BLDC
motor is driven by DC 8-12V. N . _ .
» Under the normal condition of COMP ON, it is operated together with F-FAN motor. With operation of the CoolSelect
Zone™ function, the F-Fan motor may do not work. If the door is opened and closed once at a high ambient
temperature, the BLDC motor would be operated after a 1-minute or longer delay. Therefore, you' re advised not to
takeitforanemor. . o .
» When the refrigerator is open, the freezer fan motor will also stop working simultaneously with the fan motor. (for the
purpose of performance improvement).
¢ Start
\i
Ercae Fored
operation. (See page
+ 34inthe manual)
Isthe votiage between GND sthe voltage DCLOV hetween 5 the voltage DC 9-11V between YES
ofthe main-PCB and pin No. 4 of CNT2 GND of the main-PCB and pin No. 4 GND of the main-PCB section and
aound DC 8102 ofCNT2? N72pin No. 52 Y
NO NO Fan works normally.
S the voltage DC 0V between s the voltage DC 0V between
CN30 No. 5 and No. 6 in the main-PCB CN30No. L and No. 2
secton? inthe maM \i
Y YES YES Troubleshoot the
connections of door SW.
Y Y
Measure with the door closed. | | APply power around 5 minutes Inthe first power appiication, the
- door open: DC 5V after the power OFF. (Prevent | freezer /ndge / compressor fans
- door close : OV overload of compressor. worlélflor 5 minutes regardless of the
condition.
Y
Does DC &-10V atemete Does DC 10V aemate Does DC 9-11V altemate
Wih beow DC 2V hetween GND o the mein-PCB Vih beow DC 21 betveen GND of the mein-PCB secon and ith below DC 2V between GND of he main-PCB secti
gctonand CNT2 pinNo. 42 CN72pinNo.5? nd CN72 in No. 67 Y
YES YES YES Exchange or troubleshoot the
: main PCB.
v
CN72 No. 3(F), 2(R),1(C) will be generated pulse signals when the motor rotates. These signals will be
inputted into MICOM. Unless signals are not inputted in the restart of motor, it will be ON 10 seconds after Expected causes

the fan OFF. But if signals are not sfill entered, the above operation will restart four times more. Without
signals entered continuously, the motor will get restarted after 10 minutes. This function is effective where
the normal operation of motor would be restrained due to foreign matters such as ice.

59

1. Check if the fan motor has failure itself.

2. Check if the wire connections have a trouble of contact.

3. Check the input of the fan motor rotation pulse in the operation motor
fan. (See the details of Fan Motor Drive Circuit section.)




Diagnostics

11-8) If CoolSelect Zone™ isn't operated normally

1) If the lamp of CoolSelect Zone™ is not lit.

If the Panel key isn’t selected:

¢ Start )

NO

Is the connector of NO
CoolSelect Zone™ inerted correctly
in the refrigerator? Y
Reinsert the connector; troubleshoot
: ahad contact.
s the connector of main NO
CB (CN51) inserted correctly? v
Reinsert the connector in the main
PCB.
Is the connector of NO
\i
Y YES Reinsert the connector; troubleshoot
— abad contact.
Islighting operated! YES
normall in the exchange of CoolSelect Zone™
anel PCB? Y

1.Check the wires of CoolSelect Zone™- check the disconnection of wire, short between wires.

2. Check the Lighting Circuit of CoolSelect Zone™ panelin the main PCB for Short/Open.

3. Check the main PCB of CoolSelect Zone™ assembly for Short; the wire assembly state between
the panel and main PCB.

Panel PCB has trouble for itself.

2) If the Panel PCB key isn't selected:
- The basic method is applied to check - if you fail in troubleshooting after above the execution, then

* Referto 8-7) CoolSelect Zone ™,
Panel Circuit and measure the ...

wave form.

NO
Aren'ta key or more pressed

continuously?

Isn'tthe PCB system

Y

Reassemble the PCB ass'y/Enforce
the cancellation of pressed keys

still operated by separation? NO

s lighting operatel YES

Y

Reassemble the PCB asswmbly and
Enforce the cancellation of pressed keys

normally after the exchange of
anel-PCB?

NO

S a periodical wave NO

Y

Panel PCB has trouble for itself.

form outputted from the main
PCBIC9?

YES

\d

1. Check the wires of CoolSelect Zone™ - check the disconnection of wire, short between wires.
2. Check Short/Open the Lighting Circuit section of CoolSelect Zone™ panel in the main PCB.
3. Check the short of main PCB in CoolSelect Zone™ . Check the wire assembly

1. Replace the main PCB.
2. Check the wire shorts of CoolSelect
Zone™ panel.

60




Diagnostics

11-9) If the lamps of freezer / refrigerator does not light. )

1. When you are exchanging the lamp of freezer, please exchange or troubleshoot it with the power OFF to
avoid an electric shock.

2. Please keep in mind you do not get burnt by the excessive heating of an incandescent light bulb.

C Start )

YES
R I PP PR Is the inside lamp filament cut?
\/ \
NO Exchange or troubleshoot the
Separate the door SW and measure its o inside lamp.
resistance with a measure. As the resu :
every Open/Close of the door SIW should tum 0/ hg?: Ztssr;';ogn‘?;\évﬁ
o, respectively. \
1) Where 0 alone comes out : Door SW has Short YES Exchange or troubleshoot the
trouble. door SIW
2) Where oo alone comes out : Door SW has Check the connections of F and R-door SIW;
Open trouble. check and troubleshoot the inside lamp socket,

If the door is opened, then the contact of door SIW is opened and MICOM gets applied 5V to finally sense Open. If 5V has been sensed over two
minutes afterwards, then an Door-Open alarm will sound ‘Ding-Dong' for 10 seconds in & one-minute cycle. For that reason, if the door SW has failure, the
refrigerator can make a “Ding-Dong” sound per a ane-minute cycle. Please note step for its service!

61



Diagnostics

11-10) If the solenoid in the ice-chute cover doesn't work :

_| Preliminary check I

1) Check if the solenoid is unconditionally operated for 0.3 sec, independent of the Open/Close condition of cover ice-route, after

a lapse of about 5 seconds from power ON. (Before installation, the cancellation of cover ice-route open is enabled.)
2) Check if the connector in upper hinge section is hook-up correctly.

C Start )

YES

Is the SIN(solenoid) for
0.3 sec operated after 5 seconds

| from power ON?
The SIN control PCB assembly and NO
wire system have no trouble.

+ ~TSMICOMNo. 2700 ~__ YES

CB maintaining High for 0.3 sec at the firg
NO power ON?

Y
MICOM control port is normal.

v

Press Ice lever and keep it open.

NO

Exchange the main PCB assembly.

Is the cover closed of

NO Does C-E(between C and )
SIN after about
7~10 seconds? f TR Q701 tum ON for 0.3 sec?
Y
YES Atter replace TR Q701 and check SSR71 then
I | ; - exchange the failed components or replace the
Althe control system of cover ice- PCB assembly. TR701 and SSR71 are normal
route has no trouble.
Y
Check the stop lever and support
Y time-delay.

With the ice SW ON YES
and ICE SIW on, ice-movement motor in F room?

Y

NO Subject to the ice
-< SIW ON, do CN31 No. 2 and MICOM No. 45
| getimpressed 0V?
Check the ICE SW, and troubleshoot + YES
the wire connection system.

- Main PCB and the sensing section of
ice-SIW are normal.

- Check the operation of SSR71 and
QoL

62



Diagnostics

11-11) If Crushed Ice/Cubed Ice doesn't work properly:

Start

C )

The close condition on operation
is subject to the freezer door.

NO

Is ice ejected?

Does ice in the ice tray exist ?

Check the ice-gjector SW.

1
2) Check the door S/W.
3

===

4
moving Motor section.

Check the ice moving motor.
Check the cut of wire in the Ice

<Do you see Ice Stop on the digital panel?

What's your selection Crushed ice

Cancel Ice Stop, select
the Cubed/Crushed ice.

1) Check the water hose for folding or
fastening.

2) Check the ice-water-way and

between crushed and cubed?

Cubed ice

Is the cube ice ejected sufficiently?

NO

Does MICOM No. 25 turn
5V if pressing lce SW?

Cubed ice extracted

Normal operation

YES Failure of Main PCB. -Exchange it

NO

Does IC3 No. 18 turn OV if
pressing lce SW?

/

Meastre both contact YES | Failure of Main PCB(IC3) -
terminals of RY77 afer the exchange it.

separafion of CN70, CN7L

connectors,

Does the
contact shelf of RY77 relay tum 0 Q1
pressing ICE SIW?

NO

Exchange of Main PCB(RY77

YES relay).

Main PCB is normal.

- -- Necessary to check other sections.

1) Check the wire between terminals of the AUGER motor
and main PCB.

2) Failure of cube solenoid itself, or bad contact of the
connector.

s the Crushed Ice extracted
sufficiently?

Does MICOM No. 25 tum 5V i
pressing lce SIW?

Does the voltage

SIW OFF?
NO

of IC3 No. 18 turn OV even in the ice

solenoid value
3) Check the wires of ice-maker.

YES

Normal operation

YES

| Faiure of Main PCB and exchanget |

YES

}

Failure of Main PCB(IC3) and
exchange it.

Measure both terminals of RY77
contact after the separation of CN70,
CN71 connectors.

Does the contact
power OFF?
NO

Main PCB is normal.

- - - Check other sections.

1) Check the wire between the
AUGER motor and main
PCB.

63

shelf of RY77 relay turn 0 Q eveninthe

YES

Failure of Main PCB - exchange.
(The contact terminal of RY77
relay short failure.)




Ref. 1) Check sensors

Appendix [ (Reference for circuit diagnostics)

BRN
YEL
BLU

BRN

GRY
PRP

WHT

WHT

WHT
WHT

W/RED
W/BLU

L0l T

CN30

FREEZER SENSOR

F-DEFROSR SENSOR
REFRIGERATOR SENSOR
R-DEFROSR SENSOR

>AmbiemAR SENSOR

T CEUMERSENSOR
:>Coo\8elec1 Zord" SENSOR

MAIN PCB
ASS'Y

CN31

CN90

CN51

©®6)] 0] [GePe] Ve ®EO)

|

QEOHOEHPOOOHIBPEOPO®OLEO

Measure the resistance after disconnection

Ref. 2) Check Door S/W

Disconnect the connector from the Main PCB,
than measure the resistance of the following
Sensors.

1. Check the resistance the Freezer sensor ¢n30 between the no. 2 and 3.

2. Check the resistance the Fridge Room sensor ¢n30 between the no. 6 and 7.
3. Check the resistance the F Defrosting sensor cn30 between the no. 2 and 4.
4. Check the resistance the R Defrosting sensor cn30 between the no. 6 and 8.
5. Check the resistance between the no. () and @ the ambient Air sensor cn3L.
6. Check the resistance between the no. @ and @of the lce-Maker sensor cn90.

7. Check the resistance between the no. @ and § of the CoolSelect Zone™
sensor cnb1.

8. Decide the sensor by comparing above resistances to the temperature of each

sensor with the conversion table of sensor resistance and vottage from the
reference temperature of Ref. 6 on this manual,

%When the resistance is o 9 or 09 ,check the connection of electric wire and

sensorconnector.

Main PCB
Ass'y

000 @ QPO ©® ©EB—

Check with power applied.

The Door S/W is a two-contact switch. One
detects Door Open/Close with DC 5V at the
PCB and the other one turns on/off the room
light.

(R-Room Light)
1. Check if the light comes on by opening the R-Door. If it lights up, check if the light goes off by pressing down

the Door S/W with the door open.

If there is any problem, check the R-Door S/W.

(R-Door Open Sensing Part of MAIN PCB)
1. Place the positive(+) terminal on CN30 No.(® and the negative(-) on No.(.And,check the voltage.
2. When the voltage is DC 5V with the door open, it is normal.

3. When the voltage is DC 0V with the door closed, it is normal. If there is any problem, check the Door S/W and

the wire connections.

(F-Room Light)
1. Check if the light comes on by opening the F-Door. If it lights up, check if the light goes off by pressing down

the Door S/W with the door open.

If there is any problem, check the F-Door S/W.

(F-Door Open Sensing Part of MAIN PCB)
1. Place the positive(+) terminal on CN30 No.(D) and the negative(-) on No.(©. And,checkthe voltage.
2. When the voltage is DC 5V with the door open, it is normal.

3. When the voltage is DC OV with the door closed, it is normal. If there is any problem, check the Door S/W and

the wire connections.

64



Appendix I (Reference for circuit diagnostics)

Ref. 3) Table of temperature sensor according to resistance and voltage conversion. )

The input voltage to the MICOM PORT could be different by a hardware. This is a table based on the
voltage using the 10kohm-F.

MICOM PORT voltage when the sensor is open: about DC 5V(Vcc LEVEL)

MICOM PORT voltage when the sensor is shorted: about DC 0V(Ground LEVEL)

Temp.(F)| Resistance(t) | Voltage(V) | |Temp.(F)| Resistance(ft) | Voltage(V) | |Temp.(F)| Resistance(ty) | Voltage(V)
-43.6 | 98.870 4,541 12.2 21.410 3.408 68.0 6.013 1.878
-41.8 | 93.700 4518 14.0 20.480 3.360 69.8 5.792 1.834
-40.0 | 88.850 4.494 15.8 19.580 3.310 71.6 5.581 1.791
-38.2 | 84.150 4.469 17.6 18.730 3.260 73.4 5.379 1.749
-36.4 | 79.800 4.443 194 17.920 3.209 75.2 5.185 1.707
-34.6 | 75.670 4416 21.2 17.160 3.159 77.0 5.000 1.667
-32.8 | 71.800 4.389 23.0 16.430 3.108 78.8 4.821 1.626
-31 68.150 4.360 24.8 15.740 3.057 80.6 4.650 1.587
-29.2 | 64.710 4331 26.6 15.080 3.006 82.4 4.487 1.549
-27.4 | 61.480 4.301 28.4 14.450 2.955 84.2 4.329 1511
-25.6 | 58.430 4.269 30.2 13.860 2.904 86.0 4.179 1.474
-23.8 | 55.550 4.237 32.0 13.290 2.853 87.8 4.033 1.437
-22.0 | 52.840 4.204 33.8 12.740 2.801 89.6 3.894 1.401
-20.2 | 50.230 4.170 35.6 12.220 2.750 91.4 3.760 1.366
-184 | 47.770 4.134 37.4 11.720 2.698 93.2 3.631 1.332
16.6 45.450 4.098 39.2 11.250 2.647 95.0 3.508 1.298
-14.8 | 43.260 4,061 41.0 10.800 2.596 96.8 3.390 1.266
-13.0 | 41.190 4.023 42.8 10.370 2.545 98.6 3.276 1.234
-11.2 | 39.240 3.985 44.6 9.959 2.495 100.4 3.167 1.203
-9.4 37.390 3.945 46.4 9.569 2.445 102.2 3.062 1.172
-7.6 35.650 3.905 48.2 9.195 2.395 104.0 2.962 1.143
-5.8 33.990 3.863 50.0 8.839 2.346 105.8 2.864 1.113
-4.0 32.430 3.822 51.8 8.494 2.296 107.6 2.770 1.085
-2.2 30.920 3.778 53.6 8.166 2.248 109.4 2.680 1.057
-0.4 29.500 3.734 55.4 7.852 2.199 111.2 2.593 1.030
14 28.140 3.689 57.2 7.552 2.151 113.0 2.510 1.003
3.2 26.870 3.644 59.0 7.266 2.104 114.8 2.429 0.977
5.0 25.650 3.597 60.8 6.992 2.057 116.6 2.352 0.952
6.8 24,510 3.551 62.6 6.731 2.012 118.4 2.278 0.928
8.6 23.420 3.504 64.4 6.481 1.966 120.2 2.206 0.904
104 22.390 3.456 66.2 6.242 1.922

65



Appendix [ (Reference for circuit diagnostics)

Ref. 4) Service part lists of each circuit board.

NO| CODE-NO PART NAME SPECIFCATION QTY
1 | DA41-00195A MAIN PCB ASS'Y (1Basic (2)Basic with H/B 1
2 | DA41-00195B MAIN PCB ASS'Y (DBasic with CoolSelectZone™ 1
3 | DA41-00185A MAIN PCB ASS'Y (Dispenser @Dispenser with H/B 1

i I ™
s | pAstooisss MAIN PCB ASSY @Dfspenser WIFh CoolSelectZone ]
(2)Dispenser with H/B & CoolSelectZone™
5 | DA41-00103T MAIN PCB ASS'Y (DBasic (2)Basic with H/B 1
DA41-00103U MAIN PCB ASS'Y (DBasic with CoolSelectZone™ 1
DA41-00173A MAIN PCB ASS'Y (DDispenser (@Dispenser with H/B 1
i I ™
8 | DA41-001738 PANEL PCB ASS'Y (Dispenser vith CoolSelectZone 1
(2)Dispenser with H/B & CoolSelectZone™
(MBasic with CoolSelectZone™
9 | DA41-00108A |  CoolSelectZone™ PCB ASS'Y | (2Dispenser with CoolSelectZone™ 1
(3)Dispenser with H/B & CoolSelectZone™

10 | DA32-00006B R-DEFROST Sensor PX-41C 1
11 | DA32-00006A F-DEFROST Sensor PX-41C 1
12 | DA32-10109V Ambient Temp.Sensor PX-41C 1

R-Temp. PX-41
13 | DA32-00105U emp.Sensor . 1
F-Temp.Sensor PX-41C (Use Only Basic Models)
14 | DA32-10100W F-Temp.Sensor PX-41C (Use Only Dispenser Models) 1
15 | DA32-10109X CoolSelectZone™ PCB ASS'Y PX-41C
FERRIETE CORE
16 | 3301-000016 0
(LOCK TYPE)
17 | DA27-00002A NOISE FILTER USE ALL MODEL 1

MICOM and option.

% The last no. of the code number such as DA41-xxxxx? for the Main PCB-ASS'Y could be changed by

66




CIRCUIT DIAGRAM

For Basic Models

J

W/BLU-WHITE/BLUE

W/RED-WHITE/RED

PANEL PCB MAIN PCB N L
BLK [ BLK  oik| O
BRN 8\ ’5 BN | @ AED GR%?EL BLK
RED RED — GE
ORG % % ore ONOWHD pepRoST HEATERF FiTen
YEL|® VAR ©; Lm—lRED g KTHERMQ FUSEF T
PNEI@ || \ispin[ D [P F-DRAIN HEATER RED e RED
BLU|@ BLU RED| @ 4k RED
Prp ol DEFROST HEATERR
) Ol wie l—’,\M\N\/—JRED Lk THERNO FUSER |
WHT % W/HT P DRAIN HEATER -
S/BLU s/BLU oRe|@
W/BLK|@ @ |wBLK _ S/BLU M GRN/YEL
W/RED % % wirep S8 ® C o RED
W/BLUIW | [\ fw/BLU PNK OVERLOAD
NEO(WHT) = S COMPRESSOR pROTECTOR
® RUNNING CAPACITOR proRELAY BLK
sLk| @ A
o]
CN7O(WHT)
[ W/BLK Gy FROOM LAWP |
vill® W/BLK G R-ROOM LAVP__[ge,
o W/BLK
®
®
O]
CONTH(WHT)
=1 |G\D
7.
Gfgt % Vee G)F-FAN MOTOR
00| O e (BLDC) ) FFAN MOTOR
o | R (BLDC)
BLK| OHHES COOLING-FAN
BRN @ FG MOTOR (BLDC)
RED| 2
CN72(WHT)
F-ROQM DOOR S/W -
[ @ |w/reD
3 2
g-l Froo o TR [BRN
b% Q@ [YEL
) @ [BLU
FROOM DOCRS/W  DEFROST SENSORF
. c; ® |w/BLU
— 6
— NSOR—% o AVBIENT SENSOR
S WD
DEFROST SENSORRL | 3 [ (@)
O [s/BLU ©)
o WHT| @
® CN31(WHT)
€]
CN30(WHT)
RED-RED WHT-WHITE
BLU-BLUE YEL-YELLOW
ORG-ORANGE BLK-BLACK
P/BLU-PINK/BLUE PRP-PURPLE
BRN-BROWN W/BLK-WHITE/BLACK
PNK-PINK S/BLU-SKY/BLUE
GRY-GRAY E-EARTH

67



CIRCUIT DIAGRAM

For Dispenser Models )
PANEL PCB MAIN PCB _
BLK 6\ BLK sk [
BRN % BRN reo| @ RED
RED RED —
ore|@ ©lors  OVOWHD|  perROST HEATERF P
VEL|® veL BN € Lm—lRED oL THERMO FUSEF T
PNEI@ [ [\ia-pin[ | @ [PN¢ F-DRAIN HEATER RED e ro
BLU|@ BLU RED| @ dk RED
PRP @ |PrP e DEFROST HEATERR
GRY|@ ® [erY WHT| @ DRAIN HEATER ' THERMO FUSER
ins Sl RED[BLK BLK o o VEL
/8.0 @ @ s/l ore| (@HICEMAKER PIPE HEATER
W/BLK| @ @fwek ® s/8LU M GRN/YEL
W/RED 9 \% w/ReD S/BLY|E Cc o -
w/BLU|@ | LD |w/BLU PNK O'—'VERLOAD
NSO(WHT) —— S COMPRESSOR  ROTECTOR
® RUNNING CAPACITOR pre Ry X »
BLK
fillfo! (n OENSER HEATER o
CN7O(WHT)
=[O W/BLK Gy FROOM LAWP |
S
ilo W/BLK Gy RAQOM LAVP |
, W/BLK
W/S;é % — O o EoD RED
© TLTeR W ICE MAKER-SOLENOID_VALVE _ _ _ _ _ _ ; RED
3 L T
s 8 T \GRN/YEL W oron, s
T T ice cuge sotenop| = - - o =2 oL oo |
CNTH(WHT)
r—————————— =1 | GND
aRY[@ y v
b egor Moroalﬂ OTTIOED U | e @) F-Fan MOToR g1 TR SOLENOD VAL
I OO o Voo (BLDC) ) LFAN MOTOR < BLK
| QT T |wHT O (BLDC) REDAGL GRY
I ICE SENSOR 5 Slwr  BLU[@ M o O_P
| BLK | HHES COOLINGFAN T~ WATER /W
TEST S/W QTR oay OHE MOTOR (BLDC)
I HORIZONTAL S/W 2216 Of CHTR SH=
| ICE CHECK s/W AT 11D |PrP [
| © ® |s/BLU CN72(WHT)
b—— = |cNoo(ReD)
F-ROQM DOOR 5/W -
[ @ |W/RED
3 2
j-l oo Son| TR [BAN
® |vEL
@ |BLU
R-ROOM DOOR-S/W  DEFROST SENSORF
4 1
[ (® |w/BLU
3 B
g'l ST g gm e AMBIENT_SENSOR
t@:‘ H@ e 0RG|D 2 A
DEFROST SENSORA [y |op  ORG|@ Ol
®|s/BLu WHT|D
(@) CN3T(WHT)
®
[©|
CNBO(WHT)
RED-RED WHT-WHITE
BLU-BLUE YEL-YELLOW
ORG-ORANGE BLK-BLACK
P/BLU-PINK/BLUE PRP-PURPLE
BRN-BROWN W/BLK-WHITE/BLACK
PNK-PINK S/BLU-SKY/BLUE
GRY-GRAY E-EARTH
W/BLU-WHITE/BLUE W/RED-WHITE/RED

68



CIRCUIT DIAGRAM

For Dispenser & CoolSelect Zone™ Models

J

PANEL PCB MAIN PCB
BLK q Bk e[
BRN|® @ [BRN AED| Y
ggg % % gﬁ% CNIOWMHT) | pErROST HEATERF
YEL|® el @ Lm—lRED BLKTHEREA{O\;USE,F T
PNK|® || \14-piv/] [ @ [PNK : RED e GIE
F-DRAIN HEATER
BLU[@ BLU RED| @) UK RED
PRP @ |prP =) DEFROST HEATERR
GRY|®@ ® |GRY WHT[ @ 2D DRAIN HEATER ([ HERMO FUSER
WHT ® |wHT BLK BLK N p YEL
s8|@ @ |s/BLu  one| (@ ICE MAKER PIPE HEATER
W/BLK|@ @ [wBk ® S/BLY M GRN/YEL
/a0 % % i - oo RED
W/BLU W/BLU PNK OVERLOAD
W] LD | B
— ANSO(WHT) RUNNING ChPAGITOR COMPRESSOR PROTECTOR
COOLSELECT| 8Lk @ BLK skl @ PTC RELAY A BLK
ZONE PCB BRN|® ® |BRN Bl @ W\SPENSER HEATER RED
RED|® ® [|reD =]
i [O)] @lore ALY W/BLK (7 F-ROOM LAMP
YEL|® ® [veL RN @ Q) RED
PNK|® ® [Pk W/BLK (773 R-ROOM LAMP
il o) ® T =] RED
PRP PRP W/BLK
vevii SVRHYT wr E;E 8 J— Ot soLENoD ZEB
S X
COOLSELECT ZONE g )| &5 @ s U er Joe MPRFRSOLFNOD VALVE _ __ __
SENSER ® A
T W/EES| @ % W/BLK  PNK o T AUGER MOTOR! FED
DO '®) W/RED  BLU| O CUB‘UIIUE SOL‘ENO‘D 1GRN/ YEL( .
d@@ 0D lwisto it O OB SOLENOD e = = = o2 o |- - oo oo -
__________ CN51(RED) _
T G [HED
© O |rRED Vee F-FAN MOTOR WATER-SOLENOD VALVE
| BECT MOTOR& Q1110 |BLK OYF% Ot Wi o) ) FoFAN MOTOR - 0008 BLK
: ot soveon [T % Voo oo RED s ALEILIER HGRY
| QLT g GHE oot O watts S &
| TEST S/W @ ® |GRY e | EG MOTOR (BLDC)
HORIZONTAL S/W o1 ©pBu 8 FG
: ICE CHECK S/W o+ Q@ |prP Cw[w‘_w
BLU CON2WHD  —m————————————
S —— - § SO | AVPER HEATER '
CNO(RED)  BLK[ (@D ©, COOLSELECT ZONE |
F-ROQM_DOOR /W _ sik| O @ — DAMPER AsSY |
HE DW/RED 7| D 5 |
° Froopeon| T [BAN | ‘q} |
t@ @ |YEL BLU| @ ©® % 5 5 |
— @DPBWU Ve OTTTO |
RAQOM Dccf—s,/W DEFROST SENSORF rep| ® Or———————_ I
o D [W/BLU  ON73(WHT,
3 3‘| 2 % BRN CNTHD) AMBIENT SENSOR
R-ROOM_SENSOR _@ GRY WHT @
t%; < H e OR6|D Al
o obNoUH,n
DEFAOST SEVSORA[ [y |opg  ORG| @ ol
@ [s/8LU WHT| @A
(@) CONS1(WHT)
®
lel
N3O(WHT)
RED-RED WHT-WHITE
BLU-BLUE YEL-YELLOW
ORG-ORANGE BLK-BLACK
P/BLU-PINK/BLUE PRP-PURPLE
BRN-BROWN W/BLK-WHITE/BLACK
PNK-PINK S/BLU-SKY/BLUE
GRY-GRAY E-EARTH
W/BLU-WHITE/BLUE W/RED-WHITE/RED

69



CIRCUIT DIAGRAM

For Dispenser & Home Bar Models

J

PANEL PCB MAIN PCB
BLK 6\ E BLK e[
BRN % % BRN ReD| B
RED RED o
ora| @ ©lore  OVOWHD|  peFROST HEATERF
VEL|® vee BN E L'\/MVA\:—IRED oL THERMO FUSEF
PNK @ N @ PNK g RED d\p BLK
14-PIN F-DRAIN HEATER RED
BLUI®@ BLU RED| @ RED
PRP @ |PRP = DEFROST HEATERR
GRY|©@ ®|ory  WHI[@ DRAIN HEATER - THERMO FUSER
EDL BLK BLK .
WHT ® |WHT N\ e YEL
s/8LU|® @ s/l ore| @HHHCEMAKER FIpE HEATER
w/BLK|® @ |w/BLK © S/BLU M GRN/YEL
W/RED g \% w/Rep S/BLY| € Cc Priw -
W/BLU[ @) W/BLU PNK OVERLOAD
— ool — S COMPRESSOR
NBOWHT) RUNNING CAPACITOR pre R Ay PROTECTOR
BLK| ® X BLK
sLU| @D — WV RED
A% HOME-BAR HEATER
CNTOWHT) DISPENSER HEA?AEAFE R
[ W/BLK Gy F—Rggm IV .
W/BLK /= R-ROOM LAMP
YEL| @ 5 @ RED
A W/BLK
wi E;E @ N S ICE ROUTE SOLENOD FED
6, 'CE MARERSOLENOD VALE _ _ _ _, RED
3 RED
o 8 'AUGER MOTOR,
T Tioe cuse soLenop ' L S oo
onitwn |/ CUBE SOLENO '
F————————— =7 |GND
GRY | Do WATER-SOLENOID VALVE
b ekor MOTOR& OTTIQ[L Ve [ @ (@) AN MOTOR g
' ©, @ [BLK = |vee (BLDC) A1) FFAN MOTOR 0000 BLK
I OO 96| DTy (BLDC) RED g {LIER FGRY
I ICE SENSOR O HB [wer  BLU[OHEE o o QRLE——— |
I BLK | S COOLING-FAN WATER S/W
TEST S/W @ @ferv o OHE MOTOR (BLDC)
I HORIZONTAL S/w TOTTIORY 5 SHE
| ICE CHECK s/W o1 @ [prP L]
| Q) ® |s/BLU  CN72(WHT)
b =" |[CN90(RED)
F-ROQM DOOR S/W T
o Q@ |W/RED
3 2
j-l ooy seon| T [BAN
Q@ [YEL
- ~ D |sLu
F,A0OM DOORS/W  perrost SENSOR] O
NETE YT ® |w/BLU
HOME'BAP%O:P 8 o 5 AMBIENT_SENSOR
‘ B wh| @
S/W [
DEFROST SENSORA E)F;Z ore|@ g—o/oj
@ [s/BLU e 19 g S/W
) WHT|@
) CN31(WHT)
[©l
CN3OIWHT)
RED-RED WHT-WHITE
BLU-BLUE YEL-YELLOW
ORG-ORANGE BLK-BLACK
P/BLU-PINK/BLUE PRP-PURPLE
BRN-BROWN W/BLK-WHITE/BLACK
PNK-PINK S/BLU-SKY/BLUE
GRY-GRAY E-EARTH
W/BLU-WHITE/BLUE W/RED-WHITE/RED

70



CIRCUIT DIAGRAM

For Dispenser & Home Bar & CoolSelect Zone™ Models

J

PANEL PCB MAIN PCB
BLK (D\ BLK slk| @
BRN % % BRN ReD| B
RED RED YT
ora|® ® |ore CNIOMHTI pEFROST HEATERF
VEL|® e N © Lm—lRED o THERNO FUSEF T
PNK|® | [\12-pin /] | @ [P F-DRAIN HEATER RED e O
BLU[®@ BLU RED| @) T RED
PRP @ |prRP ] DEFROST HEATERR
wHT| @ | mDRA\N HEATER
v%i? g ﬁm © 1 = i R JHERMO FUSER -
s/BLUl® @ s/ oro| @ ce Akt e HeaTeR -
W/BLK| @ [©) WIS S/BLU M GRN/YEL
W/RED g \% w/reD /8| ® C _ AED
W/BLU| @) W/BLU PNK
W] O} S OVERLOAD
NEO(WHT) COMPRESSOR
COOLSELECT mirles ol o RUNNING CAPACITOR pTe RELAY ROTECTOR
BLK| @ BLK
ZONE PCB BAN %\ QFN 5D AN RED
RED|® ® |[reD o WHOME'BAR HEATER
ORG|@ @ |orG CNTowH ) DISPENSER HEATER
i) Sle  w[o W;BLK@F—ROOM Lawe Lo
PNK[® ® [P W/BLK ray R-ROOM LAMP
YEL| @ " RED
BLUI®D @B
PRP PRP W/BLK
vaEi Svm wr E;E @ s ICE ROUTE SOLENOID FED
COOLSELECT 2OV 511 o] ST ¢ ) PRRES -
w/BLK|® @ |wBLk PNk @ AUGER MOTOR RED
WHT\%SEB@ @ fw/Red  BLU| DT s O s |
DT85 P PO \6;) W/BLU oW T T [fm s e s e s e -
————— CN51(RED) — oo
| GRY[D WATER-SOLENOID VALVE
| EECT MOTORI& g EEE Vil O U Bo0) oL o eaN MOTOR £ b BLK
[ QT HO|wir 96| @ M @Loc) REDS o AFLTER HGRY
| ICE SENSOR oD OB Wit BLU| O M) Lo o FR———
COOLINGFAN “T° WATER S/W
' TEST S/W HHO ey BK|@ MOTOR (BLDC)
I HoRIZONTAL S/w AT 1@ [BLY Egg %
I 1cE CHECK S/W AT PP 194
| O ® |s/BLU  CN72(WHT) |_ ————————————— |
b __E DANPER HEATER
CNOORED)  BLK[® ® COOLSELECT ZONE |
FROQM Dioﬁ s/w Sl 2 H-HD 5 DAMPER ASSY |
3 3-| > Slem T OO |
FROOW_SENGOR | |
Q [veL BLUI®D O 5 5 |
RO D0ORS i Ol Y[ (n ) o I ——
fR0OM DOORS/W- perrosT SENSORF o SIS |
[S - ® |w/BLu RED [ ——— |
3 2y oM Slean CNTBWHT)
HOMEBAR %_8 O] AMBIENT SENSOR
/W
/ H® [pre
DEFROST SENSORR orG ORG % %—o/oj
@ [s/8LU oG ICE S/W
® WHT| @
® CNB1(WHT)
[©]
CNBO(WHT)
RED-RED WHT-WHITE
BLU-BLUE YEL-YELLOW
ORG-ORANGE BLK-BLACK
P/BLU-PINK/BLUE PRP-PURPLE
BRN-BROWN W/BLK-WHITE/BLACK
PNK-PINK S/BLU-SKY/BLUE
GRY-GRAY E-EARTH
W/BLU-WHITE/BLUE W/RED-WHITE/RED

71



12 . lllustrated Parts Catalog.

12-1) Freezer Room Exploded View

72



llustrated Parts Catalog.

m Parts List of Freezer

NO | CODE-NO PART NAME Spec Quantity Remark
1 | DA97-00962A| SHELF-FRE ASSY GLASS-SHELF 2
1-1 | DA67-00175B| SHELF-FRE HIPS 1
1-2 | DA67-00177B| SHELF GLASS GLASS 1
1-3 | DA64-00090A| TRIM-SHELF PVC 2
2 | DA67-01932B| SHELF-FRE ASSY GLASS-SHELF 1
2-1 | DA67-00146B| SHELF-FRE HIPS 1
2-2 | DA67-00177E| SHELF GLASS GLASS 1
2-3 | DA64-00090A | TRIM-SHELF PVC 2
3 |DA97-01929A| TRAY-ICE ASSY 1
3-1 | DA61-01783A| FIXER-TRAY ICE HIPS 1
3-2 | DA63-02169A| TRAY-ICE HIPS 2
3-3 | DA64-00084B | KNOB-TRAY ICE HIPS 2
3-4 | DA61-20136A| SPRING ETC-ICE MAKER STS304, PI10 2
4 | DA97-01291B| ASSY RAIL-BASKET L HIPS 2
4-1 | DA61-00044C| RAIL-BASKET,L HIPS 1
4-2 | DA63-00202A| GROMMET-RAIL NY-6 1
5 |DA97-01292B| ASSY RAIL-BASKET,R HIPS 2
5-1 | DA61-00045C| RAIL-BASKET R HIPS 1
5-2 | DA63-00202A | GROMMET-RAIL NY-6 1
6 | 6002-000215 | SCREW-TAPPING TH,+,1,M4.0,L16,ZPC(YEL)

7 |DA97-01930A| CASE-ICE CUBE ASSY HIPS 1
7-1 | DA67-00155A | CASE-TRAY ICE GPPS 1
7-2 | DA63-00179B| COVER-TRAY HIPS 1
8 |DA97-01247B| ASSY RAIL LOW,L HIPS 1
8-1 | DA61-00179B| RAIL-LOW GPPS 1
8-2 | DA63-40256B| GROMMET-RAIL NY-6 1
9 |DA97-01248B| ASSY RAIL LOWR HIPS 1
9-1 | DA61-60180B| RAIL-LOW HIPS 1
9-2 | DA63-40256B | GROMMET-RAIL NY-6 1
10 |DA97-00425C| CASE-BASKET UPP ASSY 1
10-1 | DA61-01785A | CASE-BASKET PP 1
10-2 | DA63-00174C| COVER-FRONT FRE,B GPPS 1
10-3 | DA63-00170C| COVER-FRONT HIPS 1
11 | DA97-00424C| CASE-BASKET LOW ASSY 1
11-1| DA61-01784A| CASE-BASKET PP 1
11-2 | DA63-00174C| COVER-FRONT FRE,B GPPS 1
11-3| DA63-00170C| COVER-FRONT HIPS 1
12 | DA34-10120A| SWITCH-DOOR PAG 1
13 |DA97-00101M| ASSY COVER-MULTI FRE 1
13-1| DA63-00154B| COVER EVAP-FRE,FRONT UPP | UPP PP 1
13-2 | DA72-00245A | INSULATION DUCT-FRE,UPP FOAM-PS 1
13-3| DA72-00158F | SEAL EVAP-FRONT FRE,L T2.0 1
13-4 | DA72-00159E | SEAL EVAP-FRONT,FRE R T2.0 1
13-5| DA62-00219A | SEAL-AIR FRE,UPP 0JC-3000, T7 1
13-6 | DA70-00215B | PLATE-INS,DUCT RD-PVC, T1.2 2
13-7 | DA32-10105H| SENSOR-ASSY 502AT, -10~35 , 5V 1
14 | DA63-00178A| COVER-SENSOR GPPS 2
15 | DA63-00162B| COVER SENSOR-B ABS , PNC2 2
16 | 4713-001132 | LAMP-INCANDESCENT 240V, 30W 3

73




Illustrated Parts Catalog.

m Parts List of Freezer

NO | CODE-NO PART NAME Spec Quantity Remark
17 | DA63-00364A| COVER LAMP-FRE,A PP 1
18 | DA97-00360Z| ASSY COVER EVAP-FRE BLDC 1
18-1 | DA63-00153E | COVER EVAP-FRE(FRONT LOW) | PP 1
18-2 | DA62-00186A | INSULATION DUCT-FRE FOAM-PS 1
18-2 | DA72-00227A| SEAL-AIR FRE LOW 0JC-3000, T5 1
18-4 | DAG1-00417A| CASE MOTOR ABS SCRAP 1
18-5 | DA63-00713A | COVER-MOTOR PP 1
18-6 | DA35-00053A | FAN-CIRCUIT ABS 1
18-7 | DA31-00020E | MOTOR DC-BLDC,SENSOR DREP3020LA 1
18-8 | DA39-00060B | WIRE HARNESS-MOTOR 1
18-9 | DA63-01146A| GROMMET-MOTOR NBR 2
18-10| 6002-000471 | SCREW-TAPPING TH,+,1,M4,1.12, STS304 2
18-11| DA61-20128A | SPRING ETC-FAN STS27,PI7.8,1D1.0 1
19 | DA96-00090B| ASSY EVAP-FRE 230V 1
19-1 | DA32-00006B | SENSOR ASSY PX-41C RD SEN,A TOP,-10°C 1
19-2 | DA47-10148J | THERMO FUSE-ASSY SW-102T , 250V 1
19-3 | DA61-00603A| FIXER-SENSOR PP 1
20 | DA97-00339B| ASSY-PLATE DRAIN,FRE 230V, 41W 1

74



12 . lllustrated Parts Catalog.

J

RS23D, RS23F)

12-2) Refrigerator Room Exploded View (RS21IN, RS21H, RS21D, RS21F, RS23N, RS23H

Yrrmrr

75



Illustrated Parts Catalog.

m Parts List of Refrigerator

NO | CODE-NO PART NAME Spec Quantity Remark
1 | DA67-00149B| SHELF-REF UPP GLASS 3
2 |DA67-00148D| SHELF REF-LOW GLASS 1
3 | DA66-00038B| TRAY-CHIL ROOM GPPS 1
4 |DA97-01247B| ASSY RAIL LOW,L HIPS 1
4-1 | DA61-60179B| RAIL-LOW HIPS 1
4-2 | DA63-40256B| GROMMET-RAIL NY-6 1
5 |DA97-01248B| ASSY RAIL LOW,R HIPS 1
5-1 | DA61-60180B| RAIL-LOW HIPS 1
5-2 | DA63-40256B| GROMMET-RAIL NY-6 1
6 |DA97-00423B| CASE-VEG UPP ASSY HIPS 1
6-1 | DA61-01787A| CASE-VEG PP 1
6-2 | DA63-00177C| COVER-FRONT REF,B GPPS 1
6-3 | DA63-00175C| COVER-FRONT HIPS 1
6-4 | DA64-00085B| KNOB-MOIS CONT ABS 1
7 |DA63-10942C| COVER-VEG,LOW HIPS 2
8 |DA97-00422C| CASE-VEG LOW ASSY HIPS 1
8-1 | DA61-01786A| CASE-VEG PP 1
8-2 | DA63-00177C| COVER-FRONT REF,B GPPS 1
8-3 | DA63-00175D| COVER-FRONT HIPS 1
8-4 | DA64-00085B | KNOB-MOIS CONT ABS 1
9 | DA63-01638A| COVER-LAMP REF PP 1
10 | DA63-00178A| COVER-SENSOR GPPS 2
11 | DA63-00162B| COVER SENSOR-B ABS, PNC2 2
12 | 6002-000215 | SCREW-TAPPING TH,+1,M4.0,L16,ZPC(YEL) 15
13 | 4713-001132 | LAMP-INCANDESCENT 240V, 30W 3
14 | DA97-01420B| ASSY COVER-MULTI REF 1
14-1| DA63-00158B| COVER-MULTI PP 1
14-2 | DA72-00144A | INSULATION FOAM-PS 1
14-3| DA62-00566A | SEAL-MULTI REAR,L T2.0 1
14-4| DA62-00566B | SEAL-MULTI REAR,R T2.0 1
14-5| DA62-00587A | SEAL-MULTI AL,UPP FOAM-PE + AL50um 1
14-6 | DA47-00025H| LAMP HOLDER E 14,250V,1A,370,NTR,PBT 5VA 1
14-7| DA32-10105H| SENSOR-ASSY 502AT,K-PJT,-10~35,5V,5KOHM 1
15 | DA67-40250E | TRAY-UTILITY GPPS 1
16 | DA67-00711A| SHELF WIRE-WINE,RACK | MSWR10 1
16 | DA67-00145B| SHELF-WINE HIPS
17 | DA34-10110B| SWITCH-DOOR 125/1.5A 1
18 | DA96-00013H| ASSY EVAP-REF 230V, 110W 1
18-1 | DA32-00006B| SENSOR ASSY PX-41C RD SEN,A TOP,-10°C 1
18-2 | DA47-10148J | THERMO FUSE-ASSY SW-102T,250V 1
18-3| DA61-00453A | FIXER-SENSOR PP 1
19 | DA47-00039B| HEATER-DRAIN ASSY,REF | 240V 1
20 | DA97-00724C| ASSY-COVER FILTER ABS
21 | DA29-00003A| FILTER-WATER ASS'Y 1
22 | DA97-00725C| ASSY CASE-FILTER A-TOP,EXP,INSERT-FILTER 1
23 | DA63-00586A| COVER-TUBE FILTER PP 1
1

76




llustrated Parts Catalog.

m Parts List of Refrigerator

NO | CODE-NO PART NAME Spec Quantity Remark
24 | DA97-00670D| TANK WATER-ASSY HD-PE 1
25 | DA97-01487E| ASSY-COVER PURIFIER,L 1
25-1 | DA63-00163H| COVER-PURIFIER L ABS

25-2 | DA02-90106K | CATALYST-LTC SS400-10-3

26 | DA97-01486E| ASSY-COVER PURIFIER,R 1
26-1 | DA63-00164H| COVER-PURIFIER R ABS

26-2 | DA02-90106K | CATALYST-LTC SS400-10-3

27 | DA97-00092N| COVER EVAP-REF ASSY 1
27-1 | DA63-00159F | COVER EVAP-REF PP 1
27-2 | DA72-00142A| INSULATION-DUCT FOAM-PS 1
27-3 | DA72-00229A| SEAL-AIR,REF UPP 0JC-3000, T5 1
27-4 | DA72-00143A| INSULATION-DUCT FOAM-PS 1
27-5 | DA61-00417A| CASE-MOTOR ABS 1
27-6 | DA63-01809A| COVER-MOTOR PP 1
27-7 | DA31-00016A | FAN-CIRCUIT - ET-PJT,-,-,-,12, 95,7 63. 1
27-8 | DA31-00020E| MOTOR DC-BLDC DREP3020LA ET,0.245 1
279 | DA39-00060H| WIRE HARNESS-MOTOR | ET-PJT,-,-,-,L.450,-,- 1
27-10| DA63-01146A| GROMMET-MOTOR NBR 2
27-11| 6002-000471 | SCREW-TAPPING TH,+,1,M4,L12,PASS,STS304 1
27-12| DA61-20128A| SPRING ETC-FAN STS27,PI7.8,1D1.0 1
28 | DA61-01797A| FIXER GROMMET DOOR | ABS 2

77




12 . lllustrated Parts Catalog.

12-3) Refrigerator Room Exploded View (RS21J, RS21K, RS23J, RS23K)

78



llustrated Parts Catalog.

m Parts List of Refrigerator

NO | CODE-NO PART NAME Spec Quantity Remark
1 | DAG67-00149B| SHELF-REF UPP GLASS 1
2 |DA97-00199R| ASSY SHELF-FOLD GLASS 1
3 |DA97-01454B| ASSY SHELF REF-LOW HIPS 1
4 |DA97-01413C| ASSY CASE-CONVERTIBLE | CONVERTIBLE 1
4-1 | DA97-01412B| ASSY CASE-CONVERTIBLE,SUB | CONVERTIBLE 1
4-2 | DA97-01411B| ASSY TRAY-CONVERTIBLE | CONVERTIBLE 1
4-3 | DA63-01783A| GASKET-CONVERTIBLE SF-PVC 1
4-4 | DA61-01207A| CASE-CONTROL CONV ABS-SCRAP 1
4-5 | DA41-00108A| PBA SUB CONVERTIBLE 1
4-6 | 6002-000462 | SCREW-TAPPING PH,+,2,M3.0,L.10,ZPC(YEL),M 5
4-7 | DA39-00215A| WIRE HARNESS 1
4-8 | DA32-10109X| SENSOR ASSY 5V, CONVERTIBLE 1
4-9 | 6009-001293 | SCREW-SPECIAL STS304,- PWH, +,M4,L15.5 2
5 |DA67-00423C| CASE-VEG UPP ASSY 1
5-1 | DA61-01787A| CASE-VEG HIPS 1
5-2 | DA63-00177C| COVER-FRONT REF,B GPPS 1
5-3 | DA63-00175C| COVER-FRONT HIPS 1
5-4 | DA64-00085B| KNOB-MOIS CONT ABS 1
6 |DA63-10942C| COVER-VEG,LOW HIPS 2
7 |DA97-00422C| CASE-VEG LOW ASSY GPPS 1
7-1 | DA61-01786A| CASE-VEG PP 1
7-2 | DA63-00177C| COVER-FRONT REF,B ABS 1
7-3 | DA63-00175D| COVER-FRONT PP 1
7-4 | DA64-00085B | KNOB-MOIS CONT ABS 1
8 |DA63-01638A| COVER-LAMP REF PP 1
9 |DA63-00178A| COVER-SENSOR GPPS 2
10 | DA63-00162B| COVER SENSOR-B ABS , PNC2 2
11 | 6002-000215 | SCREW-TAPPING TH,+,1,M4.0,L16,ZPC(YEL) 15
12 | 4713-001132 | LAMP-INCANDESCENT 240V, 30W 3
13 | DA97-01420B| ASSY COVER-MULTI REF 1
13-1 | DA63-00158B| COVER-MULTI PP 1
13-2 | DA72-00144A| INSULATION FOAM-PE 1
13-3 | DA62-00566A | SEAL-MULTI REAR,L T2.0 1
13-4 | DA62-00566B | SEAL-MULTI REAR,R T2.0 1
13-5 | DA62-00587A| SEAL-MULTI AL,UPP POAM-PE 1
13-6 | DA47-00025H| LAMP HOLDER E 14,250V, 1A,370,NTR,PBT 5VA 1
13-7 | DA32-10105H| SENSOR-ASSY 502AT K-PJT -10~35,5V,5KOHM 1
14 | DA67-40250E| TRAY-UTILITY GPPS 1
15 | DA67-00711A| SHELF WIRE-WINE,RACK | MSWR10 1
15 | DA67-00145B| SHELF-WINE HIPS

15-1 | DA61-01797A| FIXER-GROMMET DOOR | ABS 2
16 | DA34-10110B| SWITCH-DOOR - 125/1.5A.25,--- WHT - - 1
17 |DA96-00013H| ASSY EVAP-REF 230V, 110W 1
17-1 | DA32-00006B| SENSOR ASSY PX-41C RD SEN , -10°C ~ 1
17-2 | DA47-10148J | THERMO FUSE-ASSY SW-102T,250V 1
17-3 | DA61-00453A | FIXER-SENSOR PP 1
18 | DA47-00039B| HEATER-DRAIN ASSY,REF | 240V 1
19 |DA97-00724C| ASSY-COVER FILTER 1
20 | DA29-00003A| FILTER-WATER ASS'Y 1

79




Illustrated Parts Catalog.

m Parts List of Refrigerator

NO | CODE-NO PART NAME Spec Quantity Remark
21 | DA97-00725C| ASSY CASE-FILTER 1
22 | DA63-00586A| COVER-TUBE FILTER PP 1
23 | DA74-00056F | TANK WATER-ASSY HD-PE 1
24 | DA97-01487E| ASSY-COVER PURIFIER,L 1
24-1 | DA63-00163H| COVER-PURIFIER L ABS

24-2 | DA02-90106K | CATALYST-LTC S5400-10-3

25 | DA97-01486E | ASSY-COVER PURIFIER,R 1
25-1 | DA63-00164H| COVER-PURIFIER R ABS

25-2 | DA02-90106K | CATALYST-LTC S5400-10-3

26 | DA97-01419C| ASSY COVER-EVAP REF 1
26-1 | DA63-01636B | COVER-EVAP REF PP 1
26-2 | DA62-00505A | INSULATION DUCT-REF,A | FOAM-PS 1
26-3 | DA62-00506A | INSULATION DUCT-REF,B | FOAM-PS 1
26-4 | DA31-00043A| MOTOR-DAMPER NSBAOO1TALAT-PJT,MAX 60MA 1
26-5 | DA61-00413A| FIXER-AIR GUIDE PP 1
26-6 | DA62-00567A | SEAL-COVER EVAP FOAM-PE + AL(30um) 1
26-7 | DA62-00568A | SEAL-AIR REF,UPP 0JC-3000, T5 1
26-8 | DA62-00614A | SEAL CUTT FOAM,LEX SPONGE , T5 1
26-9 | 6002-000215 | SCREW-TAPPING TH,+,1,M4.0,L.16,ZPC(YEL) M 4
26-10| DA61-00417A| CASE MOTOR ABS-SCRAP 1
26-11| DA63-00713A| COVER-MOTOR PP 1
26-12| DA31-00016A | FAN-CIRCUIT 1
26-13| DA31-00020J | MOTOR DC-BLDC(SENSOR) | DREP3020LB,AT(F,R) 1
26-14| DA39-00060B | WIRE HARNESS-MOTOR 1
26-15| DA61-20128A | SPRING ETC-FAN STS27,PI7.8,ID1.0 1
26-16| DA63-00423A| GROMMET-MOTOR,BLDC NBR 2
27 | DA61-01205B| SUPPORT-SHELF REF,L HIPS 1
28 | DA61-01206B| SUPPORT-SHELF REF,R HIPS 1

80




12 . lllustrated Parts Catalog.

RS23H, RS23D, RS23F)

12-4) Unit Exploded View (RS2IN, RS21H, RS21D, RS21F, RS23N,

81



Illustrated Parts Catalog.

m Parts List of Unit Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
1 | 6002-000213 |SCREW-TAPPING TH,+1,M4,.12 ZPC(YEL) 12
2 | DAG3-01379B |COVER HINGE-UPP,L ABS 1
3 | DAG3-01380B |COVER HINGE-UPPR ABS 1
4 | DA97-01871B |ASSY HINGE-UPPL 1
4-1 | DA61-01605B |HINGE-UPP,L SHP1,T30 1
4-2 | DA97-01497A |ASSY-SHIM HINGE UPP RD-PVC 1
5 | DA97-01872B |ASSY HINGE-UPPR 1
51 | DA61-01606B |HINGE-UPPR SHP1,T30 1
52 | DA97-01497A |ASSY-SHIM HINGE UPP RD-PVC 1
6 | DAG60-10124A |SCREW-TAP TITE M6 ,16,HH,ZPC2 6
7 | 6002-000215 |SCREW-TAPPING TH+1,M4.0,L16,ZPC(YEL) 2
8 | DA97-01760A |ASSY HINGE-LOWL T45,SHP1 1
81 | 6003-001435 |SCREW-TAPTITE M5,12.7.ZPC(YEL) 1
82 | 6011-001442 |BOLT-SOCKET M8,115,ZPC(BLK), SCM435 1
83 | 6021-001125 |NUT-HEXAGON 3M8, P1.25,7PC(BLK),SWRCH10 1
84 | DA61-01607A |HINGE-LOW.L SHP1, SM45 1
85 | DA66-00268A |CAM HINGE-RISER,UPP NY-66(2110R) 1
86 | DA97-01494A |ASSY-SHIM HINGE LOW T15,RD-PVC 1
9 | DA97-01763A |ASSY HINGE-LOWR T45,SHP1 1
9-1 | 6003-001435 |SCREW-TAPTITE M5,12.7,ZPC(YEL) 1
92 | 6011-001442 |BOLT-SOCKET M8,L15,ZPC(BLK), SCM435 1
93 | 6021-001125 |NUT-HEXAGON 3M8, P1.25,ZPC(BLK),SWRCH10 1
94 | DA61-01608A |HINGE-LOW,R SHP1, SM45 1
95 | DA66-00268A |CAM HINGE-RISER,UPP NY-66(2110R) 1
96 | DA97-01494B |ASSY-SHIM HINGE LOW T15,RD-PVC 1
10 | DA61-00317D |BRACKET-HINGE,LOW SHP1 2
11 | 6009-001255 |SCREW-HEX SWRCH18A,- HEX-PLANGE HEX, M6,L 8
12 | DA61-30102C |FOOT-FRONT PP 2
13 | DAG1-00056A |CASTER-FRONT ASSY SCP1 2
13-1| DAG60-90124A |RIVET MSWR10,0D6.0,L56,ZPC3 1
13-2| DAG61-40115A |CASTER-FRONT NY-66 1
13-3| DA71-00064A |REINF-CASTER-FRONT SCP1,T26 1
14 | DA63-00189B |COVER-LEG-FRONT HIPP 1
15 | DA97-01283A |ASSY SUPPORT-CIRCUIT MOTOR | MOTOR 1
15-1| DA61-00415A |SUPPORT-CIRCUITE MOTOR ABS SCRAP 1
15-2 | DA31-00020H |MOTOR DC-BLDC DRCP3030LA, 0.259A 1
15-3| DA63-01146A |GROMMET-MOTOR NBR 2
154 | DA63-00713A |COVER-MOTOR PP 1
155 | DA96-00042A |ASSY-HARNESS COMP 350mm 1
156 | 6501-000122 |CABLETIE DACT-100-W2.5,L.101L.6NTR 1
15-7| 6002-000480 |SCREW-TAPPING M4,.10,ZPC(YEL) 1
16 | DA97-00555B |ASSY CHASSIS-COMP 1
16-1| DA71-00058A |CHASSIS-COMP SBHG1,T14 1
16-2 | DAG61-40126B |CASTER-REAR PP 2
16-3| DAB0-90146A |PIN-CASTER MSWR10,0D6.0,.40,ZPC2 2
17 | DA97-01285A |ASSY TRAY-DRAIN WATER 1
17-1| DAG6-00034A |TRAY-DRAIN WATER 1
17-2| 6009-001252 |SCREW-SPECIAL SWRCH18A,-PH,+M4.0.20 4
17-3| DA97-00259E |ASSY PIPE-SPIRAL COND SPIRAL 1

82




llustrated Parts Catalog.

m Parts List of Unit Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
17-4| DA63-40128A |GROMMET-SUB COND NBR 2

17-5| DA62-00440A |SEAL-SUB COND FOAM-PE, T5.0 1

18 | DA31-00010C |FAN-ASSY 150 1

18-1| DA31-00015B |FAN-TURBO ABS 1

18-2| DAG61-20128A |SPRING ETC-FAN STS27,PI7.8,ID10 1

19 |MK4ASQRIUE@1 COMPRESSOR 15.31cc,220/240V~50Hz,RSCR 1

20 | DA73-30102B |DRYER-ASSY CU,0D18.85,D2,L102,10.0G 1

21 | DA63-40004A |GROMMET-COMP NBR 4

22 | DA34-10003V |RELAY PROTECTOR O/L 4TM265RHBYY-53, 1

23 | DA35-10013B |RELAY-PTC J531Q35E330M385-2,385V.6A 1

24 | DA63-10352A |COVER-RELAY PP 1

25 | DA39-00084B |WIRE HARNESS COMP -~EXP -~ COMP NOTHING, 1

26 | DA60-20008A |BOLT-HEX SM30C 4

27 | DA97-00918A |ASSY PIPE CONNECT 1

28 | DA97-00359A |ASSY TUBE-DRAIN SOFT-PVC, T10, 21 1

28-1| DA62-20001R |TUBEPVC SOFT-PVC, T10, 21 1

28-2| DA63-00951C | GROMMET-DRAIN HOSE NBR 1

29 | DA62-20001P |TUBEPVC SOFT-PVC, T10, 21 1

30 | DAB3-00278E |COVER COMP-ASSY SBHG1, T0.35 1

31 | DAG61-00261A |CASE PCB-PANEL ABS 1

32 | DA63-00783A |COVER PCB-PANEL ABS 1

33 | DA41-00195E |PBAMAIN ET-R600a, FR-4, Basic 1 Basic Model(Vacation)
33 | DA41-00185G |PBA MAIN ET-R600a, FR-4, Dispenser only 1 Dispenser(Vacation)
33 | DA41-00185H |PBAMAIN ET-R600a, FR-4, Dispenser+Coolselect 1 Dispenser&Coolselect Zone (Vacation)
34 | DA27-00002A |COIL 4,+50%,-30%,38*50 1

35 | 2501001186 |C-OIL 5UF,350V,BK,43X55MM,15 1

36 | DA71-00155B |FIXER-MAIN PCB RD-PVC,TL5 1

37 | DA74-00038C |DUCT-CABIC ABS SCRAP 1

38 | DA74-40149C |VALVE WATER-ASSY RIV-12A-4 1

40 | DA73-00070V |PIPE-WATER LINE PB(4137), #6.35 1

41 | DA60-30104A |NUT-WATER LINE NY-6 1

42 | DA71-20208A |FIXER-VALVE WATER NY-6 1

43 | DA73-00134A |PIPE-WATER FRE,ASSY(SUB) | SUBJAL, @10 1

44 | DAT72-00228C |SEAL-WATER PIPE FOAM-PE, T10, 180 1

45 | DA97-00979A |ASSY COVER-PIPE WATER 240V, TW 1

46 | DA63-01701A |GROMMET-TUBE WATER,FILL | INSILICON 1

47 | DA47-00035A |HEATER-WATER,PIPE 240V, TW 1

48 | 6001-000153 |SCREW-TAPPING M4 6ZPC2(YEL) 2

83




12 . lllustrated Parts Catalog.

J

RS21J, RS21K, RS23D, RS23F, RS23J, RS23K)

RS21F

12-5) Freezer Room Exploded View (RS21D,

~<<\|ﬂlﬂl~ )

84



llustrated Parts Catalog.

m Part List of Freezer Room

NO | CODE-NO PART NAME Spec Quantity Remark
1 | DAG67-00180A| SHELF-FRE ASSY GLASS-SHELF 1
1-1 | DA67-00175B| SHELF-FRE HIPS 1
1-2 | DA67-00177B| SHELF GLASS GLASS 1
1-3 | DA64-00090A | TRIM-SHELF PVC 2
2 |DA97-01932B| SHELF-FRE ASSY GLASS-SHELF 1
2-1 | DA67-00146B| SHELF-FRE HIPS 1
2-2 | DA67-00177E| SHELF GLASS GLASS 1
2-3 | DA64-00090A | TRIM-SHELF PVC 2
3 | DA97-00425B| CASE-BASKET UPP ASSY 1
3-1 | DA61-01785A | CASE-BASKET HIPS 1
3-2 | DA63-00174C| COVER-FRONT FRE,B HIPS 1
3-3 | DA63-00170D| COVER-FRONT HIPS 1
4 | DA97-00424B| CASE-BASKET LOW ASSY 1
4-1 | DA61-01784A| CASE-BASKET HIPS 1
4-2 | DA63-00174C| COVER-FRONT FRE,B HIPS 1
4-3 | DA63-00170A| COVER-FRONT HIPS 1
5 |DA97-01957B| CRUSHER ICE ASSY 1
5-4 | DA60-40116A| WASHER-PLAIN STS4 1
5-2 | DA63-00180E| COVER-ICE BUCKET PP 1
5-3 | DA63-00181C| COVER-ICE BUCKET,B GPPS 1
5-5 | DA63-10016A| COVER-CRUSHER DISP PC 1
5-1 | DA66-00033A| TRAY-ICE 1
6 |DA97-01958B| CASE-AUGER MOTOR,ASSY 1
6-1 | DA67-00144D| CASE-AUGUR MOTOR ABS SCRAP 1
6-2 | DA61-20140A| SPRING ETC-SOLENOID STS304 1
6-3 | DA71-00163A| FIXER-NUT STS420-J2,T1, CLIP 1
6-4 | DA70-20017A| PLATE-D/AUGER DISP STS304, L127XD14.4 1
6-5 | DA65-20107A| SADDLE-SOLENOID NY-6 1
6-6 | DA47-40112V| LAMP HOLDER PBT5VA, E14 1
6-7 | 6001-000033 | SCREW-MACHINE TH,+,M4,L10,-, STS304 2
6-8 | DA31-10141D| MOTOR GEARD ISG-3250SSD,SR-56586,1.8A,50 1
6-9 | DA39-00083A | WIRE HARNESS-SUB 1
6-10 | DA74-40151F | VALVE-SOLENOID 1
6-11 | DA63-90008A | BUSH-SOLENOID POM 1
13 | DA71-20252A| FIXER-GROMMET DOOR ABS 2
14 | DA59-30103J | ICE MAKER DC12V 1
15 | 6002-000215 | SCREW-TAPPING TH,+,1,M4.0,L.16,ZPC(YEL) 15
16 | 6002-000471 | SCREW-TAPPING TH,+,1,M4,.12 PASS,STS304 2
17 | DAG7-40308A| TRAY-ICE PP, T10 1
18 | DA34-10120A| SWITCH-DOOR PAG 1
19 | DA97-00101L | ASSY COVER-MULTI FRE 1
19-1 | DA63-00363B| COVER EVAP-FRE,FRONT UPP | PP 1
19-2 | DA72-00245A | INSULATION DUCT-FRE,UPP FOAM-PS 1
19-3 | DA72-00158F | SEAL EVAP-FRONT FRE,L T2.0 1
19-4 | DA72-00159E | SEAL EVAP-FRONT,FRE R T2.0 1
19-5 | DA62-00219A| SEAL-AIR FRE,UPP 0JC-3000, T7.0 1
19-6 | DA70-00215B| PLATE-INS,DUCT RD-PVC, T1.2 2
19-7 | DA32-10105H| SENSOR-ASSY 502AT K-PJT,-10~35,5V,5KOHM 1
20 | DA63-00178A| COVER-SENSOR GPPS 2

85




Illustrated Parts Catalog.

m Part List of Freezer Room

NO | CODE-NO PART NAME Spec Quantity Remark
21 | DA63-00162B| COVER SENSOR-B ABS , PNC-2 2
22 | 4713-001132 | LAMP-INCANDESCENT 240V, 30W 3
23 | DA63-00364A| COVER LAMP-FRE,A PP 1
24 | DA97-00360Z | ASSY COVER EVAP-FRE LOW) 1
24-1 | DA63-00153E| COVER EVAP-FRE(FRONT LOW) | PP 1
24-2 | DA62-00186A | INSULATION DUCT-FRE FOAM-PS 1
24-3 | DA72-00227A| SEAL-AIR FRE LOW 0JC-3000, T5 1
24-4 | DA61-00417A| CASE MOTOR ABS SCRAP 1
24-5 | DA63-00713A | COVER-MOTOR PP 1
24-6 | DA31-00038A | FAN-CIRCUIT ABS 1
24-7 | DA31-00020E | MOTOR DC-BLDC,SENSOR DREP3020LA,ET,0.245 1
24-8 | DA39-00060B | WIRE HARNESS-MOTOR F-FAN 1
24-9 | DA63-01146A| GROMMET-MOTOR NBR, ID6.5, OD42 2
24-10| 6002-000471 | SCREW-TAPPING TH,+,1,M4,L12,PASS,STS304 2
24-11| DA61-20128A | SPRING ETC-FAN STS27,PI7.8,1D1.0 1
25 | DA96-00090B | ASSY EVAP-FRE 230V 1
25-1 | DA32-00006B | SENSOR ASSY PX-41C RD SEN,A TOP,-10°C~ 1
25-2 | DA47-10148J | THERMO FUSE-ASSY SW-102T , 250V 1
25-3 | DA61-00603A | FIXER-SENSOR PP 1
26 | DA97-00339B| ASSY-PLATE DRAIN,FRE 230V, 41W 1
27 | DA63-00157A| COVER-LAMP GPPS 1

86



12 . lllustrated Parts Catalog.

12-6) Freezer Room Door Exploded View

87



Illustrated Parts Catalog.

m Part List of Freezer Room Door Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
1 - ASSY DOOR FOAM FRE - 1
2 | DA97-01800A |GASKET DOOR-FRE ASSY SFPVC 1
3 | DA61-00776A |STOPPERDOOR SHP1,T3.0 1
4 | DA66-90112C |CAMHINGE-RISER LOW NY-66 1
5 | 6002-000468 |SCREW-TAPPING PH,+2S,M5.0,L18 ZPC(YEL) 4
6 | DAG63-01863F |GUARD-FRE,UPP PP 1
7 | DAG63-01864A |GUARDBOTTLE-FRE LOW PP 5
8 | 6002-000468 |SCREW-TAPPING PH,+2S5M5.0,L18,ZPC(YEL) 4
9 | DA97-02144A |ASSY-COVER-CONTROL 1
9-1 | DAB3-00971A |COVER-CONTROL FRONT ABS , SNOW-WHITE 1
9-2 | DAB3-02189A |COVER-CONTROLBASIC GPPS 1
9-4 | DAG1-01818A |SUPT-KNOB TOUCH,BASIC SILICONE 2
9-6 | DA41-00174A |PBAPANEL 1.6¥190*70 1
9-7 | DAG3-00970A |COVER-PCBREAR ABS , SNOW-WHITE SCRAP 1
9-8 | 6002-000466 |SCREW-TAPPING PH,+,25,M3.0,L.8,ZPC(YEL) 4
10 | DA64-01017A |HANDLE BASE-MID HIPP , SNOW-WHITE 1
11 | DA97-02141A |HANDLE-LOW-ASSY ABS , SNOW-WHITE 1
11-1| DAG4-01018A |HANDLE BASE-LOW HIPP , SNOW-WHITE 1
11-2| DA71-00078A |REINF-HANDLE LOW SBHGL, Tl.4 1
12 | DA97-02143A |HANDLE TRIM-ASSYMID ABS , SNOW-WHITE 1
12-1| DAG4-01021A |HANDLE TRIM-MID ABS , SNOW-WHITE 1
12-2| DAG64-01024A |TRIM-HANDLE CONNECT MID SILVER COLOR 2 SKI-BAR
13 | DA64-01016A |HANDLE BASE-UPP HIPP , SNOW-WHITE 1
14 | DAG4-01020A |HANDLE-TRIM UPP ABS , SNOW-WHITE 1
15 | DAG4-01022A |HANDLE TRIM-LOW ABS , SNOW-WHITE 1
16 | DA71-00077A |REINF-HANDLE-MID SBHG1,T14 1
17 | 6002-000213 |SCREW-TAPPING TH,+,1,M4,L.12,ZPC(YEL),SWR 3
18 | 6002-000470 |SCREW-TAPPING TH,+1,M4,L.10,ZPC,SCRCH18A 3
19 | DA97-00727D |ASSYHANDLE BAR 1
19-1| DA64-00575F |HANDLEBAR ABGOB3(AL),®™24X1587 1
19-2| DAG3-00789A |GROMNMET FIXER HANDLE POM 2
19-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L20,TH,1S 2
20 | DA67-00773B |CAPHANDLE NOBEL STS MAT 1
21 | DAG1-00831A |BASE CAPHANDLE ABS,NTR 1 LONG-BAR
22 | DAG1-00264B |SUPPORTHANDLE MID NOBEL STS MAT 2
23 | DAG7-00796B |CAPHANDLE LOW NOBEL STS MAT 1
24 | 6002-000213 |SCREW TAPPING TH,+,1,M4,.12, ZPC(YEL) SWRCH18 3
25 | 6002-000468 |SCREW TAPPING PH,+25,M5.0,L.18, ZPC(YEL) MAWR 4
26 | 6002-001335 |SCREW TAPPING BH,+,1,M4,L12 DAC(WHT) SWRCH18A 1
19 | DA97-00727E |ASSYHANDLE BAR LONG-BAR 1
19-1| DAG4-00575H |HANDLEBAR ABOB3(AL),®™24X1587, SENDING 1
19-2| DAG3-00789A |GROMNMET FIXER HANDLE POM 2
19-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L20,TH,1S 2
20 | DA67-00773D |CAPHANDLE SC-01645S VIC SILVER(2coating) 1 LONG-BAR
21 | DAG1-00831A |BASE CAPHANDLE ABS,NTR 1 SENDlNG’
22 | DAG61-00264D |SUPPORTT HANDLE MID ABS SC-016455 VICTORY-SILVER(2COATING) 2
23 | DAG67-00796D |CAPHANDLE LOW ABS SC-016455 VICTORY-SILVER(2COATING) 1
24 | 6002-000213 |SCREW TAPPING TH,+,1,M4,L.12 ZPC(YEL) SWRCH18 3
25 | 6002-000468 |SCREW TAPPING PH,+25,M5.0,L.18,ZPC(YEL) MAWR 4
26 | 6002001335 |SCREW TAPPING BH,+,1,M4,L12 DAC(WHT) SWRCH18A 1

88




12 . lllustrated Parts Catalog.

12-7) Freezer Room Door Exploded View (RS21D, RS21F, RS21J, RS21K, RS23D, RS23F, RS23J, RS23K) )

89



Illustrated Parts Catalog.

m Part List of Freezer Room Door Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
1 - ASSY DOOR FOAM FRE SNOW WHITE 1
2 | DA97-01800A |GASKET DOOR-FRE ASSY SF-PVC 1
3 | DA61-00776A |STOPPER DOOR SHP1,T3.0 1
4 | DA66-90112C |CAM HINGE-RISER,LOW NY-66(2110R) 1
5 | 6002-000468 |SCREW-TAPPING PH,+,2S,M5.0,L.18,ZPC(YEL), 4
6 | DA67-00163B |CAP-CHUTE,ICE ABS , SNOW-WHITE 1
7 | DA72-00262A |CUSHION-GUIDE ICE CHUTE SILICON 1
8 | DAB3-01863F |GUARD-FRE,UPP HI-PP 2
9 | DAB3-01864A |GUARD BOTTLE-FRE LOW HI-PP 2
10 | DA97-02145A [ASSY COVER-DISPENSER SNOW-WHIT 1

10-1| DA63-01608A |COVER DISPENSER ABS , SNOW-WHITE 1

10-2| DA61-01819A |SUPPORT-KNOB TOUCH,DISP | SILICON 2

10-3| DA63-02190A |COVER-CONTROL DISP ABS , SNOW-WHITE 1

10-4| DA41-00173B |PBA PANEL 10mm 1

10-5| 6002-000466 |SCREW-TAPPING PH,2S,M3.0,L8,ZPC(YEL) 4
11 | DA97-01346A |ASSY COVER-PCB,PANEL REAR | REAR ,SNOW 1

11-1| DA63-01609A |COVER-PCB PANEL,REAR PP,SNOW WHITE 1

11-2| DA34-00011A [SWITCH-MICRO VP533A-OF-5,MICRO,250V,15A, 2
12 | DA66-00037G |TRAY DISPENSER HIPS,SNOW-WHITE 1
13 | DA97-01350A |ASSY LEVER-DISPENSER,ICE | SNOW-WHITE 1

13-1| DA66-00236A |LEVER-DISPENSER,ICE ABS , SNOW-WHITE 1

13-2| DAG61-00088A |SPRING ETC-DISPENSER ICE-LEVER | STS304, 1
14 | DA97-01352A |ASSY LEVER-DISPENSERWATER | SNOW-WHITE 1

14-1| DA66-00237A |LEVER-DISPENSER WATER ABS , SNOW-WHITE 1

14-2 | DAG61-00338A [SPRING ETC-WATER LEVERDISP | STS304 1
15 | DA97-00283A |ASSY COVER-ICE ROUTE SNOW-WHITE 1

15-1| DA71-00073A |STOPPER-LEVER DISPENSER | POM 1
16 | DAG1-70234A |SUPPORT-TIME DELAY HIPS 1
17 | 6002-000471 |SCREW-TAPPING TH,+,1,M4,L.12,STS304, 1
18 | DA74-40154C |VALVE SOLENOID USD-DPS4 1
19 | DAG4-01017A |HANDLE BASE-MID HIPP , SNOW-WHITE 1
20 | DA97-02141A |HANDLE-LOW-ASSY ABS , SNOW-WHITE 1

20-1| DA64-01018A |HANDLE BASE-LOW HIPP , SNOW-WHITE 1

20-2| DA71-00078A |REINF-HANDLE LOW SBHG1, Tl.4 1
21 | DA97-02143A |HANDLE TRIM-ASSY,MID ABS , SNOW-WHITE 1

21-1| DAG4-01021A |HANDLE TRIM-MID ABS , SNOW-WHITE 1

21-2| DAG64-01024A [TRIM-HANDLE CONNECTMID | SILVER COLOR 2
22 | DABG4-01016A |HANDLE BASE-UPP HIPP , SNOW-WHITE 1
23 | DAG4-01020A |HANDLE-TRIM UPP ABS , SNOW-WHITE 1
24 | DAG4-01022A |HANDLE TRIM-LOW ABS , SNOW-WHITE 1
25 | DA71-00077A |REINF-HANDLE-MID SBHG1,T1.4 1
26 | 6002-000213 |SCREW-TAPPING TH,+,1,M4,L.12,ZPC(YEL),SWR 3
27 | 6002-000470 |SCREW-TAPPING TH,+,1,M4,L.10,ZPC,SCRCH18A 3
28 | 6002-000468 |SCREW-TAPPING PH,+,25,M5.0,L18,ZPC(YEL) 4
29 | DA97-00727D |ASSY HANDLE BAR 1

29-1| DA64-00575F |HANDLE BAR ABGOB3(AL),®™24X1587 1

29-2| DAB3-00789A |GROMNMET FIXER HANDLE POM 2 LONG-BAR

29-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L20,TH,1S 2
30 | DA67-00773B |CAP HANDLE NOBEL STS MAT 1
31 | DAG1-00831A |BASE CAP HANDLE ABS, NTR 1

90




m Part List of Freezer Room

NO | CODE-NO PART NAME Spec Quantity Remark
32 | DA61-00264B |SUPPORT HANDLE MID NOBEL STS MAT 2

33 | DA67-00796B |CAP HANDLE LOW NOBEL STS MAT 1

34 | 6002-000213 |SCREW TAPPING TH,+,1,M4,L.12,ZPC(YEL),SWRCH18 3 LONG-BAR
35 | 6002-000468 |SCREW TAPPING PH,+,2S,M5.0,L.18 ZPC(YEL) MAWR 4

36 | 6002-001335 |SCREW TAPPING BH,+,1,M4,L.12 DAC(WHT),SWRCH18A 1

29 | DA97-00727E |ASSY HANDLE BAR LONG-BAR 1

29-1 | DAG4-00575H |HANDLE BAR AG063(AL),®™24X1587, SENDING 1

292 | DA63-00789A |GROMNMET FIXER HANDLE POM 2

29-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L.20,TH,1S 2

30 | DA67-00773D |CAP HANDLE SC-01645S,VIC SILVER(2coating) 1

31 | DA61-00831A |BASE CAP HANDLE ABS,NTR 1 LONG-BAR,
32 | DA61-00264D |SUPPORTT HANDLE MID ABS SC-016455 VICTORY-SILVER(2COATING) 2 SENDING
33 | DA67-00796D |CAP HANDLE LOW ABS SC-016455 VICTORY-SILVER(2COATING) 1

34 | 6002-000213 |SCREW TAPPING TH,+,1,M4,L.12,ZPC(YEL),SWRCH18 3

35 | 6002-000468 |SCREW TAPPING PH,+,25,M5.0,L18 ZPC(YEL) MAWR 4

36 | 6002-001335 |SCREW TAPPING BH,+,1,M4,L12 DAC(WHT) SWRCH18A 1

91




12 . lllustrated Parts Catalog.

12-8) Refrigerator Room Door Exploded View

92



llustrated Parts Catalog.

m Part List of Refrigerator Room Door Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
1 - ASSY DOOR FOAM REF - 1
2 | DA63-30232K |GASKET DOOR-REF ASSY SF-PVC 1
3 | DAG61-00776A |STOPPERDOOR SHP1,T3.0 1
4 | DA66-90112C |CAMHINGE-RISER,LOW NY-66 1
5 6002-000468 | SCREW-TAPPING PH+2SM5.0,L.18 ZPC(YEL) 4
6 | DA97-00904A |ASSY COVER-GUARD 1

6-1 | DAG3-00199B |COVER-GUARD GPPS 1

6-2 | DA73-00216A |RUBBER-COVER GUARD SILICONE 2
7 | DAG63-00635E |GUARD BOTTLE-REF,UPP HIPP 2
8 | DA71-00090A |GUIDE-BOTTLE REF PP 1
9 DA63-00590E | GUARD REF-LOW HIPP 2

10 | 6002-000470 |SCREW-TAPPING TH,+,1M4,L10 3

11 | DA97-02141A |HANDLE-LOW-ASSY ABS , SNOW-WHITE 1

11-1| DAG4-01018A |HANDLE BASE-LOW HIPP , SNOW-WHITE 1

11-2| DA71-00078A |REINF-HANDLE LOW SBHG1, Tl.4 1

12 | DA97-02143A |HANDLE TRIM-ASSY,MID ABS , SNOW-WHITE 1

12-1| DAG4-01021A |HANDLE TRIM-MID ABS , SNOW-WHITE 1

12-2 | DAG4-01024A | TRIM-HANDLE CONNECTMID SILVER COLOR 2

13 | DA64-01016A |HANDLE BASE-UPP HIPP , SNOW-WHITE 1

14 | DAG64-01020A |HANDLE-TRIM UPP ABS , SNOW-WHITE 1

15 | DA64-01022A |HANDLE TRIM-LOW ABS , SNOW-WHITE 1

16 | DA71-00077A |REINF-HANDLE-MID SBHG1,TL4 1

17 | 6002-000213 |SCREW-TAPPING TH,+1,M4,112 ZPC(YEL) 3
18 | 6002-000468 |SCREW-TAPPING PH+2SM5.0,.18 ZPC(YEL) 4
19 | DA64-01017A |HANDLE BASE-MID HIPP , SNOW-WHITE 1
20 | DA97-00727D |ASSY HANDLE BAR 1

20-1| DAG4-00575F |HANDLE BAR ABOB3(AL)@™24X1587 1

20-2 | DA63-00789A |GROMNMET FIXER HANDLE POM 2

20-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L20,TH,1S 2
21 | DA67-00773B |CAP HANDLE NOBEL STS MAT 1
22 | DAG61-00831A |BASE CAPHANDLE ABS,NTR 1 LONG-BAR
23 | DA61-00264B |SUPPORT HANDLE MID NOBEL STS MAT 2
24 | DAG67-00796B |CAP HANDLE LOW NOBEL STS MAT 1
25 | 6002-000213 |SCREW TAPPING TH,+,1,M4,.12 ZPC(YEL) SWRCH18 3
26 | 6002-000468 |SCREW TAPPING PH,+2S,M5.0,.18 ZPC(YEL) MAWR 4
27 | 6002-001335 |SCREW TAPPING BH,+,1,M4,.12 DAC(WHT),SWRCH18A 1
20 | DA97-00727E |ASSY HANDLE BAR LONG-BAR 1

20-1| DAG4-00575H |HANDLE BAR ABOB3(AL),@™?24X1587, SENDING 1

20-2 | DAG3-00789A | GROMNMET FIXER HANDLE POM 2

20-3| 6002-000216 |SCREW TAPPING MSWR1,M2,L20,TH,1S 2
21 | DAG67-00773D |CAP HANDLE SC-01645S,VIC SILVER(2coating) 1 LONG-BAR,
22 | DAG61-00831A |BASE CAPHANDLE ABS,NTR 1 SENDING
23 | DA61-00264D |SUPPORTT HANDLE MID ABS,5C-016453 VICTORY-SILVER(2COATING) 2
24 | DA67-00796D |CAP HANDLE LOW ABS,SC-01645S VICTORY-SILVER(2COATING) 1
25 | 6002-000213 |SCREW TAPPING TH,+1,M4,.12 ZPC(YEL) SWRCH18 3
26 | 6002-000468 |SCREW TAPPING PH,+25,M5.0,.18 ZPC(YEL) MAWR 4
27 | 6002-001335 |SCREW TAPPING BH,+,1,M4,.12 DAC(WHT),SWRCH18A 1

93




12 . lllustrated Parts Catalog.

12-9) Refrigerator Room Door Exploded View (RS21H, RS21F, RS21K, RS23H, RS23F, RS23K) )

94



llustrated Parts Catalog.

m Part List of Refrigerator Room Door Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
1 - ASSY DOOR FOAM REF - 1
2 | DA63-30232K |GASKET DOOR-REF ASSY SF-PVC 1
3 | DAG61-00776A |STOPPERDOOR SHP1,T3.0 1
4 | DA66-90112C |CAMHINGE-RISER,LOW NY-66 1
5 6002-000468 | SCREW-TAPPING PH,+25M5.0,L18, ZPC(YEL) 4
6 | DA97-00904A |ASSY COVER-GUARD 1

6-1 | DAG3-00199B |COVER-GUARD GPPS 1

6-2 | DA73-00216A |RUBBER-COVER GUARD SILICONE 2
7 | DAG63-00635E |GUARD BOTTLE-REF,UPP HIPP 2
8 | DA71-00090A |GUIDE-BOTTLE REF PP 1
9 | DA63-00590E |GUARD REF-LOW HIPP , SNOW-WHITE 2

10 | DA97-01347A |ASSY HOME BAR SNOW-WHITE 1

11 | DA63-00224A |GASKET-HOME BARIN SF-PVC 1

12 | DA63-00877A |COVER DOOR-RECESSASSY GPPS 1

12-1| DA63-00222A |COVER-DOOR RECESS-OUT GPPS 1

12-2| DAG3-00223A |COVER-DOOR RECESS-IN GPPS 1

12-3| DAG3-40167A |GROMMET-COVER CHIL T3.0, SILICON 2

13 | DA63-01607A |COVER-BRACKET FRAME SNOW-WHITE 1

14 | DAG63-00225A |GASKET-HOME BAR-OUT SF-PVC 1

15 | DAG64-01017A |HANDLE BASE-MID HIPP , SNOW-WHITE 1

16 | DA97-02141A |HANDLE-LOW-ASSY ABS , SNOW-WHITE 1

16-1| DAG4-01018A |HANDLE BASE-LOW HIPP , SNOW-WHITE 1

16-2 | DA71-00078A |REINF-HANDLE LOW SBHG1, Tl.4 1

17 | DA97-02143A |HANDLE TRIM-ASSYMID ABS , SNOW-WHITE 1

17-1| DAG4-01021A |HANDLE TRIM-MID ABS , SNOW-WHITE 1

17-2| DAB4-01024A | TRIM-HANDLE CONNECTMID SILVER COLOR 2

18 | DAG4-01016A |HANDLE BASE-UPP HIPP , SNOW-WHITE 1

19 | DAG64-01020A |HANDLE-TRIMUPP ABS , SNOW-WHITE 1

20 | DAG64-01022A |HANDLE TRIM-LOW ABS , SNOW-WHITE 1

21 | DA71-00077A |REINF-HANDLE-MID SBHG1,T14 1

22 | 6002-000213 |SCREW-TAPPING TH,+,1,M4,.12,ZPC(YEL) 3

23 | 6002-000468 |SCREW-TAPPING PH,+2S M5.,0,.18 ZPC(YEL) 4

24 | 6002-000470 |SCREW-TAPPING TH,+,1,M4,.10,ZPC,SCRCH18A 3

25 | DA97-00727D |ASSY HANDLE BAR 1

25-1| DAG64-00575F |HANDLE BAR AB0B3(AL) ®™24X1587 1

25-2| DAG63-00789A |GROMNMET FIXER HANDLE POM 2

25-3| 6002-000216 |SCREW TAPPING MSWR1,M2,120,TH,1S 2

26 | DA67-00773B |CAP HANDLE NOBEL STS MAT 1

27 | DAG61-00831A |BASE CAPHANDLE ABS,NTR 1 LONG-BAR

28 | DA61-00264B |SUPPORT HANDLE MID NOBEL STS MAT 2

29 | DA67-00796B |CAP HANDLE LOW NOBEL STS MAT 1

30 | 6002-000213 |SCREW TAPPING TH,+,1,M4,L12,ZPC(YEL),SWRCH18 3

31 | 6002-000468 |SCREW TAPPING PH,+,25,M5.0,.18 ZPC(YEL) MAWR 4

32 | 6002-001335 |SCREW TAPPING BH,+,1,M4,.12 DAC(WHT),SWRCH18A 1

25 | DA97-00727E |ASSY HANDLE BAR LONG-BAR 1

25-1| DAB4-00575H |HANDLE BAR AB0B3(AL) ®™24X1587, SENDING 1 LONG-BAR

25-2| DAG63-00789A |GROMNMET FIXER HANDLE POM 2 SENDIN G’

25-3| 6002-000216 |SCREW TAPPING MSWR1,M2,120,TH,1S 2

26 | DAG67-00773D |CAP HANDLE SC-01645S,VIC SILVER(2coating) 1

95




Illustrated Parts Catalog.

m Part List of Refrigerator Room Door Exploded View

NO | CODE-NO PART NAME Spec Quantity Remark
27 | DAG61-00831A |BASE CAP HANDLE ABS,NTR 1

28 | DA61-00264D |SUPPORTT HANDLE MID ABS,SC-016455 VICTORY-SILVER(2COATING) 2

29 | DAG67-00796D |CAP HANDLE LOW ABS,SC-016455 VICTORY-SILVER(2COATING) 1 LONG-BAR,
30 | 6002-000213 |SCREW TAPPING TH+1,M4,L.12 ZPC(YEL),SWRCH18 3 SENDING
31 | 6002-000468 |SCREW TAPPING PH,+,2S,M5.0,L.18, ZPC(YEL) MAWR 4

32 | 6002001335 |SCREW TAPPING BH,+,1,M4,L12, DAC(WHT) SWRCH18A 1

96



13. Machine Room Assembly Specification

13-1) Please remove fixed screw of cover of machine room of Refrigerator rear low part.

13-2) Machine Room Assembly Specification

L Electric Field Box

L Condensing Unit

Cooling Fan

97



14. Disassembly & Assembly Method of Internal Part of Electric Field Box

14-1) Please cut-off the power supply of refrigerator. )

C-OlL

PCB-MAIN ASSY

98



ELECTRONICS

272, Oseon-Dong, Kwangsan-Gu,
Kwangju-City, Korea, 506-723
TEL : 82-62-950-6896,6193

FAX : 82-62-950-6829

— This Service Manual is a property of Samsung Electronics Co., Ltd.
Any unauthorized use of Manual can be punished under applicable
International and / or domestic law. —

© Samsung Electronics Co., Ltd.
Refrigerator Division 2004.03
Printed in Korea
Code : DA00-000000



